Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

D Paper : II

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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o 5! TS AP ST @ N 9w TP oo @ S2@l S8 FF QA IR
ST SRS (ST = A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
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AT B
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Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
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TP ST SIFTS ST LT AR SNfZeiq 9w S ?

(A) QleTltrS B I

(C) A=RCHG (D) TN
(I BT OIS @I IR SRR 95l SR ?

(A) IEER B) &TF

(C) Ar=RRCHGI (D) TN=EI=
YRGS 5« e Fifefim aramfas (Nuclear) ST STHSTE AGHEM 7
(A) STeER (B) Asl

(C) sfedipier (D) drEw
W = 379 T8l ICHTY] IUhT0T T TRIeT0T fohd €T W o o 7
(A) STEER (B) g

(C) sfiEfpien (D)

In which place did India test its first nuclear device ?
(A) Balasore (B) Trombay
(C) Sriharikota (D) Pokhran

@47 FFTe5 PIGDS 72-512 B34 A 7y et ?

(A) 20 TS (B) 329
(C) 229% D) 25 oI
G LD o105 7R fiteeg TR TGS e 79 S ?
(A) 20 TS (B) 329
(C) 229% D) 25 oI
T8 Tshehe U 3tra 713 ferehely o STHUTgan 98eT ?

(A) 20 3aTEH (B) 323E™
(C) 223IEd D) 25IEH
e e i faehei F QA h A hI g TR 7

A) 20T (B) 327
(C) 227 (D) 25T
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What 1s the distance between the two sets of wickets on a cricket pitch ?
(A) 20 yards (B) 32 yards
(C) 22 yards (D) 25 yards

2022 19 @ (71 2RSS 7[R DR8TD *I1TS (P el Fiwe ?

(A) TR FOHE (B) IR b
(C) ToRF&F e (D) T AT
2022 TR FAIOT ST TR 47 Kol (F TS FCARE 2
(A) e AN

(B) TSI Bl

C) o TFifes

(D) SI=FICFeT q™iet

Thel 3ATUA 2022 3719 FETHRH FRH-FRIY SEREARHARE R CEHd SEmE ¢

(A) TSR HhsW (B) M Tt

(C) rTeh Srehifer (D) Thet Feret

foper Thr 3T 2022 H %Y Tehddt ST ?

(A) TS B (B) wwHm feafcame

(C) eI SHhifer (D) The T

Who won the Men’s Singles at French Open 2022 ?

(A) Roger Federer (B) Stefanos Tsitsipas

(C) Novak Djokovic (D) Rafael Nadal

ST eI 7w 5 ?

(A) T (B) B

(C) TTANgA (D) IGF

GG A H ?

(A) R B) =i

(C) THEg D) MIGF
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FTES  TAATA 3T §&T ?

(A) TR (B) T=h

(C) vl (D) T
AREE H T F R ?

(A) TR (B) T=h

(C) vl (D) e
What is the capital of Jharkhand ?

(A) Raipur (B) Ranchi
(C) Dehradun (D) Gangtok
SIS G AT G WIU® 524 (2R :

A) Igzel (B) TR
(C) =R (D) rT=ife
OIS (@ EICT A G el A -

(A) TMBTl (B) TleTR
(C) IR (D) FreRies
TTERITE BT WA S STRATTET GH1-WiHeil lss g, ?

(&) g B) Hew
(C) 3feheie (D) HrelErE!
A | |H o @ I ST 8 8 —

(A) SIS (B) #IER
(C) 3THATHR (D) wHTATETE
The place associated with gold mine in India is

(A) Jaduguda (B) Kolar
(C) Ankleshwar (D) Kalahandi

I S oRfee (@ees STo 2T 1269 @6y 27 2

(A) DI (B) SR
(C) wvfam (D) =3
SR A (@i TGN TSI ) 9191% I9lG 20 AT 2
(A) FEIPRIN (B) IS
(C) wIfea™ (D) SR
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U1 SHTSShTe A @ 8T SITReAT Mt SR ?

(A) hfcaTm (B) EH

(C) wifeam (D) A

e AR Wi # frefetfga o & fepaeh) il % SRor g g 7

(A) hfesrm (B) ImAEH

(C) wifeam (D) @irer

Goitre is caused due to the lack of which of the following in our food ?
(A) Calcium (B) Iodine

(C) Sodium (D) Iron

o] TEHFIRT F#1e] 7N 6 =nifee 2

(A) AL DR (B) =R TEHFR

(C) T&Tom PN (D) F(I2PTm T

TSl NEHPER 1ol (F foeem ?

(A) A T (B) ZWRI T

(C) T&Tom IR (D) wfepIv

AT FIRIRL T T ?

(A)  CRIHTY HHT (B) TETTY WL

(C) 5w HrTeRt (D) o1 SHTE HRIeHT

AT YR fUar s O 2

(A)  EEIY HITH (B) EeITY HTHT

(C) Sfidg wiReRt (D) woft JHTE HT

Who was the father of Lata Mangeshkar ?

(A) Dinanath Mangeshkar (B) Hridoynath Mangeshkar
(C) Jitendra Mangeshkar (D) Mani Prasad Mangeshkar

3] 0
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8. 2022 59 1 QIS Sl SIS S @18 T8I I ?

(CNIREGRECT (B) I[IF oI
(C) TIT (D) & =0T

8. 2022 15t GIFRIAICS T FIE Mg (F feterm ?
(CNIREGRECT (B) AT SN
(C) TTMIT G (D) T AR

8. 1stJanuary, 2022 &1 o, ﬁ?@gw A% aﬁﬁwﬁgg&r&aﬂ g ?
A fua fades (B) s{Ieh A&
(C) sHeegH (D) i TgEA

8. 1 SHaRl, 2022 i TIH Y TR Ugufd HH T ?
A) foe faees (B) s &1
(C) sHIeE g (D) it STge

8. As on 1st of January, 2022, who is the President of the United States of
America ?
(A) Bill Clinton (B) Barack Obama
(C) Donald Trump (D) Joe Biden

9. &3 alferow w2l 5ed AR Sels 2
(A) RS oI S e 7 GiEe
(B) #If27 W= el
(C) NI farges I =g (e T2
(D) 3Iea Fifer fordi=et

9. &5 aferom PR @ oy “f[foo
(A) R 93 7 T =Y
(B) N2 9 AT
(C) =l >eplel fagrer g M0y s11%
(D) (6 I AT

9.  Ifieh @RI YTSLTREST MR ™ qai ara ffemn 2
(A)  FEH IR IEH TR THA

(B) rE f e
(C) Ty SmETfRrumf STrETfReR e aTw e
(D) sEHAH T
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9. Menframomurid_ Ffauamamars |
(&) gt st % ot g
(B) I3 HH
(C) U THIV B3t 6T YTl & o= dag
(D) T I HI &THA
9. Greek Mathematician Pythagoras is known for
(A) Distance between Earth and Sun
(B) Value of P1
(C) Relationship between the sides of a Right angled triangle
(D) Area of a circle
10. Taforie ST ST= (FIRH! Ha1tha Srlsi CIee Sios ?
(A) T TEAET R (B) SITIRATE
(C) TuEs T (D) I EFETee
10. e Teafrs (e T beiftbg Pieee (R 29ifE) et soifee 2
(A) RIERoCRIRR
(B) SIS
(C) TS T
(D) I TR
10. TTERY 53 e A g e € 7
(A)  ThaIITHE (B) 3TRETHE
(C) gSRI® Hieead (D) T hiead
10. Tfafad o @ S 91 AR fhen I & wefud @ ¢
(A) TheTIAHS (B) 3NFISTHE
(C) Fewr biead (D) 3 wEEd
10. Which of the following festivals is related to the film industry ?
(A) Rouketopolemos (B) Octoberfest
(C) Woodstock festival (D) Cannes festival

LI 0]
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11. JRE#F 52T SPTNE CICS (@< ST RN FII0Z 2
(A) R (B) SFEIHE T
(C) I (D) o
11. JREEF G A AR A AE 0 G0 ?
(A) TR (B) SIREIH T
(©) e (D) 5wt
11. SRS ! 96 TS SR ?
(A) Here (B) 3TeUTT=Ie Sel
(C) =foT (D) TS STt
11. R form U= 1 s A Sedr g ?
(A) Hae™ (B) 3TRUTTEA Jem
(C) =fTg (D) ufzm e
11. Which state does Srirampur connect with Assam ?
(A) Meghalaya (B) Arunachal Pradesh
(C) Manipur (D) West Bengal
12, TS (I 52T AR I SR ?
@) i (B) T e
(C) JleTmel (D) e
12. 10y Seae (e =120 Y 90 SR ?
(A) Tl (B) g et
(C) sl (D) TS
12. TTEHTE BT o TG AL ST g ?
(A) HrEH (B) TieH feeett
(C) HicTehTaT (D) T
12. fr=faRea o @ fore wet o v 9l sievmg 2 7
(A) HEE (B) s foeett
(C) hIeTehran (D) HraTA
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12. Which of the following city has a sea port ?
(A) Cochin (B) New Delhi
(C) Kolkata (D) Bhopal
13. SRR SRIHTS 7 o11S F91 SPTHE 2N GG (e ife 2
&) feiweT (B) STl F0A=RIR
(C) Tl ©BIbET (D) TfCamss <<l
13. SPIN (ACS 22N (I FUlfam Apieie S 7 &a SR ?
A) f=imm (B) aIreeal Facai=i}
(C) W3 SEIHH (D) TSITamd 3=
13. <ol 3Tt Tl SEReERE SATEmHER aafgse R ded SEHEE™ ggan
| 7
@A) femzm (B) <t siCET
(C) feurent wgram (D) - W s
13. ITSHehIclA 3TTeifueh H Ugeh Sfia-aTel 378 % J8c! TYEIE i & ?
A) femam (B) e SwTET
(C) TRt wgraTst (D) VEer ST
13. Who is the first athlete from Assam to win a medal in the Summer
Olympics ?
(A) Hima Das (B) Lovlina Bargohain
(C) Dipankar Bhattacharjee (D) Bhogeswar Baruah
14, IR EeleTs 9779 forflel 1 02t |
A) Fsfore F@hiZ (B) =sfore frrg
(C) =oftne qiems Prez (D) =i ewe Pz
14. =99 {1 20feet I reCes SREHie 2
Q) =S w7 Picg (B) =ofe i1 ez
(C) Fofre ATed PRz (D) =S eve PRz
14. TG GR TSRGATH 90719 A AGHHE ?
(A) s & fig (B) wrics o fig
(C) Tenies T fiig (D) Teics wHw g

3] 0
SLRC-2022/P-1I/D 13 =m  pr1o.



14. TR & fHfon ST H 37T T |

(A) TS &5 fie (B) wrie3 far fiig
(C) waics Troizer &g (D) rics v i
14. The Rang Ghar was constructed during the reign of .
(A) Swargadeo Rudra Singha (B) Swargadeo Shiva Singha

(C) Swargadeo Rajeshwar Singha (D) Swargadeo Pramatta Singha

15. P Sf2e Refvier @i 013s sihfes ?

) et B) fo=re

(©) ez (D) TR
15. PTG el Refvpert (pie o= fEs 2

(A) e (B) Tzw

(© wr=b (D) PR
15. ST 373l G a3 S8 ¢ ?

ENERECEI B) fesme

(C) <NEr (D) TEHR
15. 31aw ufgen fovafomme saf fma ® 7

@A) freEmR (B) fesrre

(C) @R (D) TEWR
15. Where is Assam Women’s University located ?

(A) Sibsagar (B) Dibrugarh

(C) dJorhat (D) Lakhimpur

16. o1 @i fAIGGR 7ol 312q fooqe (i SGRecs 7[(d ?

(A) 3 faga REGR (B) S REGE

(C) +/5are fRIFGR (D) Sarma! RIEGE
16. o0 StEfrema I PR @ifbires i R we ?

(A) TPife REGE (B) wIR2s f{@6E

(C) +T5are RITEbR (D) Slarmal RIEGR
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16. TEETE g g« iR wafmmerteasn safrgser memfes ¢
&) e frrer (B) 3HmETed ferrer
(C) 7 forer D)y R
16. T=IRET H HIF A1 HETSA [T (WTRT0) T8 998 18 7
(A) iR frex (B) 3memed faee
(C) e foue (D) wereet foreet
16. Which one amongst the following mobile theatre (Bhryamyaman) groups is
the oldest ?
(A) Kohinoor Theatre (B) Awahon Theatre
(C) Natraj Theatre (D) Bhagyadevi Theatre
17. “S7 TR SRR G ASreioa (@ic SIS iz ?
(A) T ePTm SloTeT! (B) =FEAIY @&l
(C) Rgeepiv qrel (D) S eptm 7=
17, TF I (G SHICAG 7 @ S o1 A=A ?
(A) TN SleR el (B) TR (@<
(C) Rperim are! (D) ~IRSt &P Il
17. <371 AR SR <0 IR 311 91 ?
(A) HHAT JETE ATETAT (B) ALHHIY STe®3T
(C) ooy sy T (D) Te ST SRl
17. TopEm “a7 R STaAR g <6l oq < oft 2
(A) HHAT TG ST (B) &Y SSTEweT
(C) ooy e T (D) Telelt ST S
17. Who composed the tune “O’ Mor Apunar Desh” ?
(A) Kamala Prasad Agarwalla (B) Laxminath Bezbaruah
(C) Bishnu Prasad Rabha (D) Parvati Prasad Baruah
18. SIFIa WIS 1IN (2R :
(A) TN (B) 2@
(C) TETN (D) =9
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18.

18.

18.

18.

SIS Y@l 26T

(A) T (B) 2@
(C) Tel™ D) =@
ST T-QEs 17 ?

@A) 73 B) ¥
(C) r (D) &
ST hT 5T & —

A) FIH (B) =
(C) sier (D) &9
The currency of Japan is

(A) Yuan (B) Yen
(C) Dollar (D) Ruble

19.

19.

19.

AT BRI @IG! Sfe T 2

(A) 2R @R fEers w@fEs ¢ 759 |
(B) 3 Tarz I wNieeq GOl 71 eq %% |

(C) BT T sl g 27 |

(D) 2 Tz RIS fEeTifEe @3 el SR
forc Seatre @in Sfef <Rl 71 7o) ?

(A) @ PIFCRIT (SR Qb =12 |

B) 9t PR =R @7 96 2RO |

(C) 9t fezsitTs r5d! «Ffh 27 |

(D) «fb TRefie (TR «IFH FRA TSR |
TS T s SR QS Siaarg =21 ?
(A) o= Freptem et 7 TR

(B) T sl AT T BTSIET @ X

(C) e fespre @i #i e forett

(D) o mdnire forenfa farfermemd sef fos forrmanfer (Wildlife Sanctuary)

ORH0
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19. fafafeada s arnfsauFaRATT 2 ?

(A) I HHUIR el § Th I 2 |

(B) I8 ISl STATANT § Teh Ueid G B |

(C) e fespTe o ure TH S 2 |

(D) g TriTie fer 1 weh a=siia 31T § |
19. Which of the following is true about Pobitora ?

(A) Itisatown in Kokrajhar district.

(B) It is a mountain peak in Karbi Anglong.

(C) It is alake near Dibrugarh.

(D) It is a wildlife sanctuary in Morigaon district.
20. frraffis wIoTEs @i @b AN ?

(&) YR AERP (T (B) <26 7ol

(C) <IRTEeT (g (D) FERTSI T
20. 1 SEfie @ orgl s frebadt 2

A) S SR T (B) *mIZ90 CTg

(C) TRIRR T (D) IERITSNET CT9
20. TTEMTE S 9 SIS T QIR ?

(A) 9 ESTIERT 6 (B) wUsHe gl

(C) TR §q (D) SHIfTATHHT §q
20. Tt i & T B e ATEr 5 T R 7

(&) ¥ BT g (B) ¥RIgETE It

(C) TR §q (D) SHIfTATHH §q
20. Which of the following bridges is near Guwahati ?

(A) Bhupen Hazarika Setu (B) Saraighat Bridge

(C) Naranarayan Setu (D) Koliabhomora Setu
21, “SPIAISRICARS el ifel 512 o7 TR Wwm X6l (=02

(A) 7 (B) Il

(C) 9 (D) el
21. “SPIEICRISAfe e, XerE @ @ wweid Sid 903 Gifb 29

(A) 7 (B) Il

(C) 9 (D) ==l

3] 0
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21, TERITE H 6 ISl IR S191 WICie STHHAT I I F9UIAT 31 ST 2
(A) @iy (B) wggEl
(C) = (D) foeae
21, TRV S ‘FEEETAMISAfG .\ A HE @ H W |
(A) @R (B) wgqEl
(C) A (D) foama
21. The word that would correctly fill the gap in “Oxomiya Bhaxa Unnati ____
Xobha” is
(A) Xadhini (B) Bohumukhi
(C) Koron (D) Bistaron
22. IR IR ST SIS 2% AP IR 4o @Ie Y Slerrzee 2
INER LRSS (B) SIS Wl
(C) 4 el (D) AINS *FIR
22. AFAS AR SPTART ST A1 FF & T ocet ?
INEEEEEKS] (B) TS IVl
(C) R el (D) TS =RFACE
22, AR TS dTeHi{eh TV GRETST Txdehivg THRIH foerfiien ar 2
(A) TH et (B) 3= sheetl
(C) e sheet! (D) i TrehtE
22, AT H JTcHifeh THTAY T TG “THhTS TRV fehem for@r o 7
(A) TH G (B) 3d sheatt
(C) e sheet! (D) i TrehtE
22. Who wrote Saptakanda Ramayana, a translation of Valmiki Ramayana in

Assamese ?
(A) Ram Saraswati (B) Ananta Kandali
(C) Madhav Kandali (D) Srimanta Sankardeva

ORH0
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23.  SPIE SRR T SCEDA SRR (I D1RS 791 IS (2feet ?
(A) @G (B) e
(C) ==<oHl (D) TIRREIRIE
23. SPINEI SIR 2IN “AfE! “SRECIR” TR (AP SAPIRS 2eafRe ?
(A) =20 (B) frmeE
(C) =il D) YRS
23, “sfeIers” g &fY smftrn Tt asiiet serwe fogTe SeimE ¢
(A) SEr (B) @R
(C) Arethican (D) IR
23. “3TRUNGIS” Ugel AT vt Y ufet Yehfd g% —
(A) RER ™ (B) ReEmrw
(C) HTEtRfeand (D) HHTARY
23. “Orunudo1”, the first Assamese language magazine was published from
(A) dJorhat (B) Sibsagar
(C) Naharkatiya (D) Kokrajhar
24. A T0! %P LT SPATR T T RR
(A) IR HT o (B) T T 526
(C) SEm XAl (D) JiT™ THE SEIHRS
24, 2N PRI @Y RS WA 2FFR CIRRE :
(A) ST TR RIS (B) W@ 7S &b
(C) SREI 2N (D) FE= AR GO
24, FAUS S A Ay smften forffen serr .
(A) T TS TEaTt (B) ¥ T AT
(C)  welmTer Ffeha (D) forteg R wegra
24, YIS TEHR UTH HH dTet TUH STHHAT 0@ & —
(A) Y THorer et (B) B ot Y
(C) el AT bt (D) =iy FAT wgrerd
24. The first Assamese writer to receive the Jnanpeeth Award was
(A) Mamoni Roisom Goswami (B) Yese Dorje Thongsi
(C) Bhabendra Nath Saikia (D) Birendra Kumar Bhattacharya

3] 0
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25. 1942 51 SRS ffsl SIS 5 AfeTs Foeero! Wi T FiFfes Siomiz zoy 31
LESCRECE
A) I=E[ (B) ToE
(C) TR (D) wZeRfH
25. 1942 97 SRS RITT! SR TR Gl Z Jo¥ Cllei Faperel G2 JFW FIPNSCH
2fe T3 2oyl AR ?
A) =R (B) ToEH
(C) wimrefe (D) “i=SSfe
25. ¥ 1942 AN ‘YR AR AHEHRARTE fsifes gietastn sehetdl 3T G bl
& MELTEA ?
(A) TER (B) TR
(C) eferaraeh (D) FAEaT
25. 1942 % WA BIS! e H Toifet gfetd 3 sheisheral 3T Hehe bl <hl Tt AT g
o T W T oft ?
(A) TR (B) TSR
(C) ek (D) HEaTd
25. In 1942 Quit India Movement, the British Police shot dead Kanaklata and
Mukunda Kakati at
(A) Gohpur (B) Tezpur
(C) Dhekiajuli (D) Ahotguri
26. GRFeI2 BI2 el e Spiaib SaFES o194+ 2z :
@) ey (B) w2l
(C) eI (D) T sifeifer
26. TOIeT2 Bl ATl (e (PRI A0 2
@) feFry (B) @2
(C) PrReTeE (D) T sifgeifer
26. <IhATS TTET fofSRET™ BEAHT ST S 7
A) fespre (B) @R
(C) TosmmR (D) Tergaamer =ieamfa
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26. TIhclTs FTT IFTHH T fohg T AR 7

A) fesrre (B) SEm

(C) freEm (D) forgary =mianter
26. The Toklai Tea Research Institute is in which city ?

(A) Dibrugarh (B) dJorhat

(C) Sibsagar (D) Bishwanath Chariali
27. SPTIE GG O T A 5I24 (2T :

GV (B) oG

(C) fefmem (D) TSI
27. I GG CTHelP Fol SR :

(A) fome (B) wiMe

(©) fomifeai (D) TR
27. AW 7o &fe wUETier 98 ?

A) farerr (B) wSTSTE

(C) fargfera (D). TIrSITeraT
27. 3THY 1 Feholldl ek Thel 39 IR H 8 —

A T (B) g

(C) fagferan (D) &R
27. The only Sainik School of Assam is at

(A) Silchar (B) Bongaigaon

(C) Tinsukia (D) Goalpara
28. =P qifen DRI S Thegn Trpii<e S S[ES ?

Q) TOER (B) i@l

(C) @R (D) TIREAR
28. SIMIGHE Afens e o2 Sfgn Swyie (IR S_fEs 2

(A) TOEF (B) Jif&re!

(C) «=Ib (D) ToIRIETs!
28. 3™ §Y JARETA ST FIeT(ehed A3 &7 ?

(A) qR (B) ISt

(C) TaTEd (D) TR
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28, 3w Ty fafearer g8 sedfa 3 el fRa R 2
(A) T (B) ISt
(C) TeTErd (D) TeTeTaTx
28. Where is the Assam State Zoo cum Botanical Garden located ?
(A) Tezpur (B) Kaziranga
(C) Guwahati (D) Goalpara
29, SRR GRA-bFS WIS GG TS 7= ?
(A) *fg (B) I
(C) T (D) ST
29. G SRR T (@0 2eiolied GRe60E “hedl AR =1 ?
(&) S (R ) (B) &% (@)
(C) TG (foreeir) (D) eI (GOCie)
29. e s ety [s fifdamm (life cycle) T 7
A) THEY (B) fae
(C) = (D) s
29, Trerferiiaa & & 1 faaeh & Sfaq—=mr 4 72 2 2
(A) HEfUeR B) 3=
(C) = (D) <=
29. Which of the following is not in the life-cycle of a butterfly ?
(A) Caterpillar (B) Eggs
(C) Pupa (D) Tadpole
30. SER @R ARIHTS 7[<f5F TEiq (@ETHR FroiTe HH0aD [@eTsa ol o1 w1 &2
SIS TR (2R
(A) @ TIBR (B) =
(C) =IETIR BT NS 4R (D) . [@ERFEl
30. ISW HAlbd FFR SR (P SPINRI HoIftbd oW = FifeA fod SFRE g

TR ?
A) ToETs I (B) ==y
(C) TSI AN 1S 4o IR (D) T. @&

ORH0
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30. TR F9Y" s=1 (National Film Awards) T/ fifafm sm@fien aagHst e

(A) oo TR (B) 3w
(C) BTARMET T3y FEaU™ @ (D) ©f SSeedT
30. UTH fhed EhR § A998 IR fhen & Tetid 89 areft Taelt srafimn fhem off -
A) foers T
(B) IWUg
(C) T IR Sy T
(D) S SewaT

30. The first Assamese film to be awarded the Best Feature Film at the National
Film Awards was

(A) Village Rockstars

(B) Aranya

(C) Halodhiya Choraye Baodhan Khai
(D) Dr. Bezbarua

31. T SF SNEIe (@R Ay [FEE Tiare ¢t A 2

A) febifi o (B) b &
(C) TSSO (D) TSHIRE S
31. TR R INERICS @I oI [FZeiE 363w 2
(A) TeBifE C (B) SO K
(C) fSbife B (D) feoiffm D
31. I TR ARSI & forerfo w7
A) faef= C (B) faerim K
(C) feorfim B (D) fwif@ D
31. g 3R IATaet | A a1 foerfid v S a4 R Sar g ¢
(A) et C (B) faefim K
(C) Tt B (D) faefim D
31. Which vitamin is prominently present in lemon and Amla ?
(A) Vitamin C (B) Vitamin K
(C) Vitamin B (D) Vitamin D
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32. SR RHGIT LTI M1 TRITHHIRT (I i ?
Q) fea9 (B) e @@
(C) <psIel DleeTl (D) <l BICHAI
32. (I OROR ARG Tl @2 TR0 (ARt ?
A) ey (B) e @
(C) <&l pleeTl (D) 5 AT
32. STEERETE IR YA fifafes smeshen g ?
(A) fotor ot (B) fertor s
(C) ST ATEel (D) e TFET
32. 3iafer § I aTelt TUW W qet 6 afee S off ?
INIREZURI] (B) fertor &
(C)  heTHT =Taedl (D) ShedAT HaGT
32. Who was the first Indian born woman to go to space ?
(A) Kiran Shaw (B) Kiran Bedi
(C) Kalpana Chawla (D) Kalpana Saxena
33. TG (NSRG4 [Eere s 2
(A) TG (B) @20
(C) JIeizer (D) e
33. THEIT (ISR CPI (ST SES 2
(A) Tl (B) WIH=G
(C) I wrizer (D) 9IS
33. TuTeiiTe fwrerien o« femma g 7
(A) TIeTEe (B) SrEwr
(C) hIsl JAAANT (D) g
33. THTeiiTe frpredt fopm foret o fa @ 7
(A) TIierTETRE (B) SitEre
(C) et SARTEAT (D) Tia
33. In which district is the Numaligarh Refinery located ?
(A) Golaghat (B) dJorhat
(C) Karbi Anglong (D) Nagaon
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34. TINS9NST (N0 &Z 7S ST J2ifeq Ters Sz FF ?
(A) e (B) W&
(C) = (D) 31
34, TIRSCSA I @ 220 o191 @R I2~oifed Ty =R ?
(A) e (B) W&
(C) (D) 3
34, FHGN §« T8°37 50 3T geeufd Tgf fowme ?
(A) T 78 (B) gh Uz
(C) wiHwE (D) quu=
34. TRESH I HH 91 U8 gt 3R geeafa & = fua g 2
(A) =T (B) WH
(€) =l (D) 9=
34. Which planet of the solar system lies between Earth and Jupiter ?
(A) Mars (B) Venus
(C) Saturn (D) Mercury
35. (T M TER SITST GRS ASIFIT ol F2e ?
(A) TR I ST (B) foRsml (sl
(C) TalfE wizg (D) IAHL SIFF
35. SIRCSF SR AOIBE TP (F AR ?
(A) TP SOV 9l (B) forifer comizal
(C) SRifa w12y (D) =L SR
35. WA g fRfthetret 9 7et gFemH ?
(A) TIECH e MR (B) fiett Sz
(©) wufsf Trrg (D) Tl STt
35. WA % P &l i foha festme fepan 7
(A) TIETeH HHwg e (B) firreft Jemzn
(C) = Trrg. (D) TeigaTd MR
35. Who designed the National Flag of India ?
(A) Mohandas Karamchand Gandhi (B) Pingali Venkayya
(C) Sarojini Naidu (D) Rabindranath Tagore
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36. GFIT affsfiirg Fiee A fafrfie @F el yife-REiE F&rw gl “Alew
I ?
@A) T4 ARE (B) TARR
(C) o5 RICTIT 3 RIE! (D) T2 foRfon SIS
36. TICx SRR T & FRifomae e+ BrTE o =R elfsfiag T 2
@A) T RE (B) TARRA
(C) o5 TRIBTRA = RN (D) 2 fodioe SIe
36. TR T3 g METHE! BRI “3FHITR sk formr 2
(A) s wrEmEaE IR (B) Ut
(C) i fafSrranferts wrete faforefic (D) Tieami femmswfor s
36. fmferfga o & i sHfed w1 wfafire s & for sywmm fomieh st 2 2
(A) T I A (B)  drhuTel
(C) 3= =TT % J&d =rrei (D) ueA frate s
36. Who amongst the following is the ‘anti-corruption authority’ to represent the
public interest ?
(A) Chief Information Commissioner (B) Lokpal
(C) Chief Justice of High Court (D) Chief Election Commissioner
37. OROR MY NG Pt SETe Teq FRE ey FRe A (NCHAC) e
2feet ?
(A) ST P (B) i SRpIb!
(C) i il (D) T wpil
37. OISR IR (i 7 S T FRIT 71wy Fe/PTe #ifram oifoe 2efwe ?
A) e (B) 1%es 7wl
(C) =B il (D) T v

ORH0
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37. T HBR S TG MY YTk Gfafraft a9 i meam=m e ?
(A) w7 (B) w5
(C) wiitgfy D) w6
37. Gfaum & form SN & d8d 3T FOR Y @R uiye (T, 1.0 5. ) 1 Te foma
I I
(&) Tt st (B) dr=ret s1geeht
(C) et gt (D) B3I g
37. Under which schedule of the Constitution of India is the North Cachar Hills
Autonomous Council (NCHAC) formed ?
(A) Seventh Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Sixth Schedule
38. IMIREICS AR eeTS I (IS a1 27 ?
A) TR (B) =SS Bl
(C) T o D) e oy
38. IS GO (Ple] LT PN =Y ?
A) wETg (B) IRRICTS i)
(C) BF o (D) el iy
38. H TECH! TUETER W SR=fC SIEATETE wral ?
(&) g (B) &S]
(C) SIS AHEA (D) &9H BRA
38. 3H Tl FHAR W fopw & § FI e 8 7
(&) ImE (B) were! germh A
(C) =ReAH (D) THae el §
38. Which region is Jhum cultivation usually practised in ?
(A) Wetlands (B) Hill sides
(C) Char areas (D) Flat plains
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39. 3z TTTE ST @G WETR [ta efeqm ARTE FRCH TR 19 Zo5HleT
g «las (fwe ?
(A) IR I (B) J1edb =z
(C) WTH-NCBl im= (D) TSMOR 7213 ©ifersl
39. I =P SR (T HZEH efeqm T GeTo! SIferimeHis AR SITReyH B
STl R ?
(A) AR SR (B) NeHIG o3
(C)  tef NCBI =M (D) 72 oI5 Wertl
39. fafes yrafy & s St@md 2un S aefbshT StTfctermeTen sSTaTTe SiHT STheHH ?
(A) ETgEA HiTEH (B) et 31
(C) wA-firer wrETEA™ (D) Y BT TSl BIITS
39. fofeer v = fopm atfurfem & fotiy & Sforiaren am gcmeie i e st g8 off 7
(A) TTEHA FHEH (B) eie use
(C) T fier gam (D) g fatess vea
39. Which Act of British India had the Jallianwala Bagh Massacre crowd gather
to protest ?
(A) Simon Commission (B) Rowlatt Act
(C) Morley-Minto Reforms (D) Separate Electorate
40. 2SI o2l R fofey «afa arza et Rl 41 =3, 12 72 4 (2= :
(A) T, R, 3wers (B) e, foryed, Swer «if
(C) T, (i, ey (D) e, e, (et
40. TSI @ Foafb 4Gl7 o f2eTed RKicam=l 41 =3
(A) T2, B, 2oTer «f (B) s, oy, DI 4
(C) T, T, famerf (D) e, e, (et
40. BTG §9 AHUW G9I0E TR g 7
&) feo, for@, 3™ (B) dig arH, ferg, 30T
(C) ditg arm, 31 9rm, fag (D) f&g, fra, oig arXm

ORH0
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40. TS I AT T HT EIH HET ST 8 —
Q) T v, fag v, sam oo (B) sig o, fig o, s an
(C) g o, 5 o, feig ot (D) feg v, fir o, oitg o
40. Hajo is considered as the confluence of the three religions :
(A) Hinduism, Sikhism, Islam (B) Buddhism, Hinduism, Islam
(C) Buddhism, Jainism, Hinduism (D) Hinduism, Sikhism, Buddhism
41. TP SEIF TEIG TS (el Fig (I fosfie) plifieet 2
A) e (B) w12
© FeIwm sz (D) TEPAIR A
41. (I TSI SiHTes 2le HiF (Seie ot «Affos) qreifb el stafeer ?
(A) S| (B) @RI
(C) T 2T (D) TR*ZAE
41. IRAH HEEE “UeE ¢ US” Wl UL THTAST STHaHH ?
(A) 3T (B) STERR
(C) FII-I-<H Th (D) I=E Tl
41, T |Te 3 wRA 1 (R F9 & 1) TS <o TS 1 01 fepart ¢
(&) IHT (B) i
(©) FIIEM T (D) ¥rerre F
41. Which Emperor built the (popularly known) Grand Trunk Road of India ?
(A) Akbar (B) Jahangir
(C) Qutubuddin Aibak (D) Sher Shah Suri
42. OISR FHYTT BN SEPITS (S TR (S TGS =T ?
A) DleowE (B) <ol
(©) Tt (D) i
42. G SEROTR T (@0 SR MR SRS S 1R TeeE 717 ?
Q) siesie (B) <l
(©) Tt (D) i

3] 0
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42. WA gfafaty e s mert s« qasn SeerEme 7

(A) T (B) %
(C) nfereft (D) et
42, Trferiga o & W o1 YA % @faae % AER et srgeEh O i TE e 7
(A) Gerefl (B) sl
(C) afeft (D) et

42. Which among the following is NOT included in the Eighth schedule, as per
the Constitution of India ?

(A) Santhali (B) Bodo
(C) Maithili (D) Karbi

43. &) 5! S F AT SIP SN A IR e @R Rm .

(A) TmES! =EFRA (B) 1N et
(C)  Trarfey o corr=r (D) forer &t TamiaT
43, 2= SPINRI WEE SR 93R @7 R *1&] A=IE CTRRE
(A) TmES! =EFRA (B) =it @at
(C) I =R Calr=ISy (D) foisfet erel Famie
43. st s A el st smeeraremsfiit s ferfifen @r 2
(A)  T=ur afeanf (B) =fert sme <t
(C) Y TgHH ML (D) Tiet g e
43. IgH TEERR Siia- aTefl Ugett STaftR Aiget i 3R oiftges off —
(A)  =Iggr Hfemart (B) aferdt aren et
(C) =IO Torgm e (D) it wom e s
43. The first Assamese woman - a poet and author — to win Padma Shree award
was
(A) Chandraprabha Saikiani (B) Nalini Bala Devi
(C) Mamoni Roisom Goswami (D) Nirmal Prabha Bardoloi

ORH0
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44, SIS G IS 771 HATH SCHIER TS C2fee ?
(A) Tedy (B) f&imet e
(©) = (D) fofew
44. SRS @A A B W Sgo 2@l ?
(A) Teds (B) f&ivat e
(C) sl (D) e
44. ‘U GEEEART YRAN g9 TSI TAE SHEE ?
(A) TS (B) femreet gem
(C) = (D) fafewm
44, WRA < oh TT H 1 €9 9 0! STGIeH TR g7 o7 ?
(A) IHEE (B) femm=at v
(C) @femm (D) Tarfeerm
44. Which state of India did the Chipko Movement originate in?
(A) Uttarakhand (B) Himachal Pradesh
(C) Haryana (D) Sikkim
45, SITTS W TWPT B RIS A2 (P! 56 =7 FICH! TR 1= ?
(A) SRSRT q& oI 23 AR
(B) T 25 I27F I 27 A9
(C) ST @I GF AR (87 (Sionel 2’3 AR
(D) 7N @ ARIRE 29w Tl 27 e
45. forca SRR T (P el SIS oM T 2T & K FH0S A Al 2
(A) SRSR FIRF 200 2 |
(B) T 25 ITEHI I 20 AR A1 |
(C) SRCSA @ @I 5 G (S5 20® 2[ |
(D) VN BCRR A1~ 200 203 |
45. YRA3TE HEGH TIGHET ST TERIH S8 STRGTSH MY =1 2
(A)  WRAT TR ST
(B) 25 SER o HIfgs g3 JHTST
(C) YRat STrrig S gafef+ femms@un (Voter) SR
(D) ur@l 10 T 3r=TreaTa IRERa™ e
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45, 9Nd H HYUE 96 - o [oT¢ M=TcTRad H € fohd HTGE 1 I i hl STTawIehd] T8 & ?
(A) WA T AT BT =0T |
(B) 25 o @ H 3Ty I &I 1 =R |
(C) 9 % foreht oft Frafem & o e 8 =z |
(D) &1 10 % & oh1 wieqn Ihvl s gt |
45. Which among the following criteria need not to be fulfilled to become a
Member of Parliament in India ?
(A) Must be a citizen of India.
(B) Must not be less than 25 years of age.
(C) Must be a voter in any constituency in India.
(D) Must pass class 10 level of examination.
46. IS SIPTYRA (T B FoTpe AT & w12 (el +Tre iz ?
(A) oF (B) @20
(C) TR (D) fo=R
46. I SRR TG0 @9 10 BTRA &) coeiferss e (. =012, 5i1ef) Tricez ?
@A) TER (B) @iz
(C) =TRIN7E (D) fHer
46. TERM §& TR § SREAREE AR gEE foge omem ymEreni fefRmm
(Geographical Indication) 7 #Fgl ?
(&) TR (B) @R
(C) wEmR (D) feret
46. fr=ferfaa ® @ fopm wom 1 <fi<ht & fow GI ey g3 @ 7
(A) R (B) wiER
(C) g (D) fereti
46. Which among the following places has received the GI tag for its Litchi ?
(A) Tezpur (B) Jorhat
(C) Lakhimpur (D) Shillong
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47. RS @ [ i SO H e R RRR TR AN SIS 2
(A) =TC FiTS (TerICR (B) =TC IS
(C) TG IISHG (D) =6 @I
47. 0w SEler® i SIToR REFRRER R SR &) AR ?
(A) =6 Fize TEIAP (B) T FelaIfer
(C) TG ASBIFIG (D) 1 IR
47. TEEM R gy W YRATR Sieiumg ead! wrmeErTd faeify fagmty omam fafosmn ¢
(A) WIS FATS SARIS (B) S Ffanfer
(C) TS HIRUCS A (D) e Bt
47. Trafafea & @+ ardt fren yomeft 9 31 guri & fore IS g 2
(A) TS FelTsd SIS (B) S hHaTAH
(C) S Aesed (D) wfe fm
47. Who amongst the following is known for his reforms in Indian Education
System ?
(A) Lord Clive Dalhousie (B) Lord Cornwallis
(C) Lord Mountbatten (D) Lord Macaulay
48. TIFIG! S fT T 16 (IfEE “ihg «F (AFSPA) 931 tafee ?
(A) 1958 (B) 1952
(C) 1960 D) 1971
48. E O R =2 (AFSPA) % /G #1177 20T ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971
48. o AU ﬁWWWTﬁﬁ 38 (Armed Forces Special Powers Act) 3T
TS ?
(A) 1958 (B) 1952
(C) 1960 D) 1971
48. W g o=y vk srfafem (v uk.wq v, ) forg o urita femam mam o 7
(A) 1958 (B) 1952
(C) 1960 D) 1971

3] 0
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48. In which year was the Armed Forces (Special Powers) Act (AFSPA) was

passed ?
(A) 1958 (B) 1952
(C) 1960 D) 1971

49. SR MR FRCH! SFPRM TG - 57 ST ey 72 [e T @M 3 ?

(A) SR 14 (B) Seqo=v 377
(C) v 371 (D) SF[=A 254

49. OISR MR (I 4TS e 54 ©IHres Aol [ i @mi= F1 2lee ?
(A) 14 R4 (B) 377 R YAl
(C) 371=R4El (D) 254 R 4«1

49. aRari Ffafraf s« gwrR a-dr= YRaf TS RAT i GTETiEt T ER ?
(A) TH 14 (B) %1377
(C) <®I371 (D) <H 254

49. VR TfIETH 1 HH T1 T3¢ AT T b T <! foroiy gt YeH HLar g ?
(A) FTee 14 (B) I=sg 377
(C) 3rg=se 371 (D) 3= 254

49. Which Article of Indian Constitution grants special status to the states of
North East India ?

(A) Article 14 (B) Article 377
(C) Article 371 (D) Article 254

50. SEIRIENE (TR % IRl O AP fFols4e (i 212 o1l Slermigfee ?

(A) G TG I (B) FaIe! FElalE

(C) 2l Il (D) SIREw=S 75f
50. ST (T Torrelly o ey 336 @R forcafee ?

(A) [T HR PN (B) TEASAIY FEANIN

(C) At FIING (D) SREmaS (Pal
50. SATEATA AeE3T fethatt 3% sfgan faseat s formi= 2

A) g fire ettt (B) e AEAHTA

(C) 30 &I (D) 3TEHGTR ekl

ORH0
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50. ST A€ | Tewhatt 31 oo gk et ford off 2
(A) IO Eee A (B) e A
(©) B (D) 3EFETR fhert
50. Where did Jawahar Lal Nehru wrote the book ‘Discovery of India’ ?
(A) Pune Central Jail (B) Yerwada Jail
(C) Thane Jail (D) Ahmednagar Fort
51. [TafoTire Tpigag i< 51g “IF*o3ere SEiEs ?
(A) RS (B) 1>
(C) TLETE (D) =2 7a
51. I A Faefer e (I AARoReer w1t ?
(A) =T (B) = g
©) wE~a (D) @FRAG
51. HHTE STASTE U™ G G AT ?
(A) =mfEn e (B) s& A
(C) g E (D) e &
51. frferfad o & M o1 o= ufim e § fra 2 2
(A) I aA (B) @@
(©) mYFRE (D) T T
51. Which among the following Satras is situated in West Bengal ?
(A) Chamaria Satra (B) Baradi Satra
(C) Madhupur Satra (D) Jakai Satra
52. SPTH TS I 11 (FITCH! oS 2 2
(A) 79 7 SR (B) “iffosa 71 5j3eeT
(C) T@aq “q| nfwelte (D) w39 711 Teste
52. ST IhvId OR T i e 2ifee =1 2
(A) 7 @A AR (B) ~fow (A 7Icd
(C) T (AT TfHeed (D) W AP TOA

3] 0
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52. STTETHTE d AL AR o« Tt Sgarst ?

(A) HHSIHE AT (B) HMTEIHR S

(C) @RI et (D) WA ATET
52. SRIA A< 3w | fopd foem H St 7 7

(A) TS EuEE (B) Uf2m & Qe

(C) I A gl (D) afeqor & 3w
52. Which direction does the river Brahmaputra flow in Assam ?

(A) East to West (B) West to East

(C) North to South (D) South to North
53. SRR’ TR ST SICHDA 4w 2N A7 (P e 2

(A) . A JST (B) T=om I=EEl

(C) 'feTels FIBR (D) TSN (BT el
53. SRR AGP! SR @9 22N AP (3 foeeT 2

(A) T, T G (B) T2 b I

(C) SfeTeR Fred (D) ST R T
53. sl et e f frfafe gafT 5 S 2

(A) <. FUA ST (B) &H =5 a&al

(C) 3T et (D) 3= 2feRaret B
53. 3TEMHT URIEhT ‘ITETIGIS < T HUTGHh i o ?

(A) ST, Y ST (B) &H=ig Sl

(C) et et (D) e STt B
53. Who was the first Editor of the Assamese magazine Orunodoi ?

(A) Dr. Nathan Brown (B) Hem Chandra Baruah

(C) Oliver Cutter (D) Anandaram Dhekial Phukan
54. SPT HIBPIAT O 162 TR CTal 2q FRITS Fe Sbies A S

AR5 |
(A) S (B) &l
(C) (D) wFHS

ORH0
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54. SIPIN SRR CTAT SRR 0o STl O Arers a1 <pael 2pg FI A Feiffoe 2
(A) =PI B) <A
(C) = (D) TEFe!
54. 3T WHRM gT-WeHT i< fafagr aeuiRasme aeq™ wEeaRe = gFF
Tl |
(A) 3AREATE (B) g
(C) TRy (D) A=
54, 3TEH THR I -Teid Haeft Fanti Sl AIS13T ohl GeIafeud ST Sgat 9 & ST A1 8 —
(A) e (B) =g
(C) =Ry (D) 3oy
54. The streamlining of Land Revenue related services scheme of the
Government of Assam is better known as .
(A) Arunudoi (B) Basundhara
(C) Sarothi (D) Arundhati
55. ENG SRFIICI SIT T (OTeT GIFB! AGFT FICB! 6 FHE SeArer 2
Q) A (B) Tslel
(C) ol (D) &g
55. QNS *PICIR 71 Gl 12 27 G A6 i Fl A “Afafve ?
(&) SEFRIAG (B) Tl
(C) ~ormi (D) &g
55. =1 YeRcaSl HIHTE STHE HHE HetH fefRrm ywaemset o1 e fbforn 7
(A) Afrar e (B) I
(C) THRm (D) W=
55. ffd YreRted gRT ST foht TTT TehTshl ATeeh 1 €T FT 7 7
(A) IR (B) I&TH
(C) THEm (D) ==
55. What is the form of the One Act Play, made popular by Srimanta Sankardev

known as ?
(A) Ankiya Nat (B) Yakshagana
(C) Tamasha (D) Bhramyaman

3] 0
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56. THID ST PIRZPITS SICIIRE P 2I0d T TR 71 <6 wifeee 2

A @ PR B) fmfes
(C) wFEH (D) ¥EF™ME
56. TI5 ATEHR PIRIPI SRS TR =4 AT TR =11 S s 2
(A) PR B) fmfae
(C) wFEH (D) w&™
56. T UHICR TSI G T BT TS AR H371 71 6 2
A) iHe (B) foreafsa
(C) YeRieaS (D) weeted
56. T ST <hl TTed! W 3 T g TSAT AR Bl -1 7719 AT ?
A) i (B) faeesia
(C) xS (D) Hewied

56. What was the name of the king Naranarayana before he ascended the throne
of Koch kingdom ?

(A) Nara Singha (B) Biswajit
(C) Shukladhwaj (D) Malladev

57. fafafre @iy Sfens s1f-irs! Siena Smizae Fahes! sioly 1 72 ?

(A) o7 5T (B) SN 9=
(C) T a7 (D) e oiz
57. TTC Srafs oo Sua @b ASEIDT siites Swzgel e [fve za =t 2
(A) ™ (B) =¥
(C) iz (D) ot
57. TR s fawhieT faers - faftan amgwi fafeaf 77 ¢
(A) (B) el
(C) wisd (D) gafea
57. Trafefaa & @ %1 a1 U gofurdt saeafa s e T g S ® 2
(A) =& (B) ¥
(C) A (D) femmreg
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57. Which of the following trees is not considered as an example of deciduous
vegetation ?

(A) Sal (B) Mango

(C) Pine (D) Simalu
58. SIISRS 5 NHETT ANSDIS! I wifes ?

(A) T (B) wsuR¥S

(C) IR (D) ST
58. SIS 9 AT 2lfoviel 3 ?

(A) R (B) -2

(C) 3™ D) IS
58. ST AU TRASTE TREFITRT AR 7

A T (B) v gl

(C) =M= (D) FAH
58. WA H Tl HTHTSY o JTd8TIeh i & ?

A) g (B) e gl

(C) =R (D) 3ThsT

58. Who was the founder of Mughal Empire in India ?
(A) Humayun (B) Sher Shah Suri
(C) Babur (D) Akbar

59. JETVHN, Al ST TR TES LTS (@GB! T #Aql e T 41

?Y?
A) wErfE (B) FCHr e
(C) wmf& (D) oNe e
59. PlEToF, TR, ORI eFEBfl @GiF T T KR Sesime 36 2
Q) @ fE (B) ARwf *ife
(C) e (D) o e
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59. heTdaehH, TN ST ARG TEATRG (Project) 3E 5 HETHWGR Hifsctar@! Gmis gRI ?

(A) ¢ Hifsers el (B) wRHATOTfereh Tl
(C) fag =l (D) &M Tl
59. HeTqaehH, T T ARG THEISHTE 9 & Hid 8 forsreft 1 Icame id 8 2
(A) ¥l (B) AT Sl
(C) ardr i (D) ER S

59. Which source do the projects at Kalpakkam, Narora and Tarapore produce

electricity from ?

(A) Hydro power (B) Nuclear energy
(C) Thermal energy (D) Solar energy
60. TIICT ARG SN e ISR i oI eifes) e ?
(A) =eftre (NS B (B) =ftne FubiR
(C) =ofte faPicz (D) Fofrre o7 Pz
60. TRZIGE SN AT 17 Aeiell RO (& @lfod! Feafecer ?
(A) =FTE NI Pirg (B) =fmre 77w Picz
(©) oS i ficz (D) FE o7 iz
60. TR 38T TTHIGHI JSUT TG STEIEATe TREa; ?
(A) werfes ey fag (B) weics &5 &
(C) wrics ¥ foe (D) weies goet g
60. Tem STgTe 1 3TTE ATHTy <t Sifam TereT % w9 § werfd fmar ¢
(A) weries MY fig (B) weics &5 &
(C) wrics ¥ fog (D) weies gie fie

60. Who established Jorhat as the last capital of Ahom Kingdom ?
(A) Swargadeo Gaurinath Singha (B) Swargadeo Rudra Singha
(C) Swargadeo Shiva Singha (D) Swargadeo Purandar Singha

ORH0
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61.

61.

61.

(PICT R G I99 SRFC6! I o N 729 999 SFB! y 2, (S0 TRANHI 2T

(A 10x+y B) x+y
(C) xxy (D) 10y +x

GG TR GFCHA FIC 1 G TP B y AP0 & FRI 29
A) 10x+y B) x+y

(C) xxy (D) 10y +x

Sfe aa i gaf aef faamen « o gis aeff feamesn y S, o safmm
AW 7

(A) 10x+y B) x+y
(C) xxy (D) 10y +x
61. TS ITHTS o AT T 37 x & 3TN CETS o TIH W 37 y &, 1 G fFeh gU A T 2 7
(A) 10x+y B) x+ty
) xxy (D) 10y + x
61. If the digit at the unit place is x and the digit at the ten’s place is y, then the
number is given by
(A) 10x+y B) x+y
) xxy (D) 10y + x
l —2 l —2 (l)—Z (lj—Z
62. Wﬁcfﬁw:@ +(3j +l7) +5
1 1
A) 11 B) 51
) 14 (D) 54
SPACE FOR ROUGH WORK
[E
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6. wmfetrem (3] (3 (3 (]

@ 14 ® 35

© 14 (D) 54
62. %)_2 + %j_z + &j_z + %)_2 e fega

@ 1 ® 34

© 14 D) 54
62. e B : @_2 + @_2 " @_2 " @_2

@ 14 ® 54

© 14 (D) 54
62. Evaluate: %)_2 + %)_2 + &)_2 + %)_2

@ 75 ® 55

© 14 D) 54
63. x2—b5x+ 63 x— 3T 2 I VI 279 (2R

@A 1 B x-2

) 0 (D) x+2
63. x2—5x+ 6TF x— 3 GF Q! 5 FACE

@A 1 B x-2

© o0 D) x+2

SPACE FOR ROUGH WORK
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63. x2—5x+ 6@l x— 3 TG TR RT3 SITE
A) 1 B) x-2
© o D) x+2

63. x— 3G &2 — 5x + 6 I AT L T IO 3MTaT R —
A) 1 B) x—2
©) 0 D) x+2

63. Division of x2 — 5x + 6 by x — 3 results in
A) 1 B) x—2
C) o D) x+2

64. &2 20 T FSIF AT @I (2R
A) 210 (B) 120
(C) 124 D) 310

64. &= 201 SR FRUTF @IoFe] 297 :

A) 210 B) 120
() 124 (D) 310

64. fifsfem 20 fafmm sl (Natural numbers) T geE@3T SIFTH
A) 210 (B) 120
(C) 124 (D) 310

64. TH 20 TTehicieh HEAIHT 1IN —

(A) 210 (B) 120
(€ 124 D) 310

64. The sum of the first 20 natural numbers is
A) 210 (B) 120
(€ 124 D) 310

SPACE FOR ROUGH WORK
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65. x2y ¥ xy2 9.8, 2 ;

(A) «x B) v

C) x+y (D) xy
65. x2y @R xy? @3 9.8, 297 ;

A «x B) v

©) x+y D) «xy
65. x2Zy 3 xy2 f1¢.3m.41. (HCF) 371 01 SIFTH ?

A) «x B) ¥y

C) x+y (D) xy
65. x2Zy 3R xy2 o TI.H .U, & —

A «x B) v

©) x+y (D) «xy
65. The HCF of x%y and xy? is

A «x B) vy

C) x+y D) xy
66. (PG G2 RpeRE 7' ST (@S TSHE 51C I (20 16 T2 ; (9 o1 4| 7159 9%

66.

P 15 I2F HF (1 @IS 51T 70127 18 27 |

REpERTS 2351 313 S (BTSN TR SIS R :

(A) 5:2 B) 4:3

©) 2:1 D) 3:2

@b RIIEE (R(ET 6 TER 51T 1 16 I | (961 REAWA 1T 7 15 I @R (T
N 1T P 18 A0 | RIRRIGTS (2051 8 R AT

(A) 5:2 B) 4:3
© 2:1 D) 3:2
SPACE FOR ROUGH WORK
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66. TH HEEAE T B AW fE=sem B S8 T/ 7HsT e 16 9191 | gemE
ST BRA S T/ gE3T 15 S8R 30 fe=smasm s s s9if ™ gEsT 18 99 | 9
HIHTTASTE BETHT AR ferAad TR U3 S8 ?

A) 5:2 (B) 4:3
© 2:1 D) 3:2

66. Teh Thel H TIgeh TR TSI QT bl 3THEd 3T 16 IY 7 ; hael cIgehi o 3718d 31 15 Iy
8 37 hacT TISfhal shi 3T 3Ty 18 TN 2 | Thel H TISohi U TISIhAl shi TEAT T AT
% —

A 5:2 B) 4:3
© 2:1 D) 3:2

66. In a school, the average age of both boys and girls is 16 years; the average
age of only boys is 15 years and average age of only girls is 18 years. The
ratio of the number of boys and girls in the school is :

A) 5:2 (B) 4:3
€ 2:1 (D) 3:2
1 1 1 1
67. (1—5) (1—5) ......... (1—5) (1—1—0) 2P T+ 22 :
1
A 1 (B) 10
1 1
© 710 D) 3
1 1 1 1
67. (1—§j (1—5) ......... (1—§j (1_E) BIRICERICEGE
1
A 1 ® 19
1 1
© 710 D) 3
SPACE FOR ROUGH WORK
[
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1 1 1 1
67. (1—5) (1—5) ......... (1‘5)(1‘5) TR A feg |
1
@A 1 ® 15
1 1
© 710 D) 3
1 1 1
67. ams(l—gj (1—5) ......... (1—5) (1—1—0) HHAEE —
1
@A 1 ® 15
1 1
© -10 D) 5
67. The value of the expression (1 - %) (1 —%) ......... (1 - é) (1 - 1—10j 18
1
@A 1 ® 19
1 1
© 70 D) 7
68. TIIC GF MF 12.5% BPT FECE AAIH! 119 AT | ARAIH! (=07
(A) 130 (B) 125
(C) 148 (D) 136
68. G MRANF 12.5% FAMCE 119 <IN I | 7201
A) 130 (B) 125
(C) 148 (D) 136
68. HIFY IFERHTE! 12.5% @HREIsAT 119 ST | & SFTTHR |7 ?
A) 130 (B) 125
(C) 148 (D) 136
SPACE FOR ROUGH WORK
=) [w]
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68. THTEATIE 12.5% Tl 2, A 119 B A1 & | T8 —

(A) 130 (B) 125
(C) 148 (D) 136
68. A number when decreased by 12.5% becomes 119. The number is
(A) 130 B) 125
(C) 148 (D) 136

69. P 9T TS CFET (2 300 .1K.2 1% 39 37 e 2z 25 6. [, | JFTen™
‘ﬁﬁﬁfﬁf?:

(A) 88T.M. (B) 70 .M.
(C) 64T.M. D) 587T.f.
69. G HTOCHCI AT 300 T.IN.2 IR OF I Tl 25 TN, | RSEw@v AR -
(A) 88 TM. (B) 70 1.5
(C) 64wM D) 58 TLM.

69. TINY RIAH TSR SEm 300 (3.f.)% 31 9 @91 2@ ARumEsn sem 25 3.0, |
o A grRffe fagmn sger ?

(A) 887.fu. (B) 709.fu.
(C) 64 3. (D) 583.fu.
69. T 3T 1 &%eT 300 1 &1, B 3R 3ok ferehul <l T7arg 25 T, 2 | 311 o1 IiT 2 —
(A) 88T .. (B) 70w,
(C) 6471, (D) 587.M.

69. The area of a rectangle is 300 cm? and the length of its diagonal is 25 cm. The
perimeter of the rectangle is

(A) 88cm (B) 70 cm
(C) 64cm (D) 58 cm
SPACE FOR ROUGH WORK
[E
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70.

70.

70.

70.

I O SRS 3199 Tie 39 299 Ao 2 9 | I SARKEIN 5799 2 (F SF 29F 3 @

MARESIETH mi%iﬂ?ﬂ | SHRHTHT (2R :

A) (B)

St Wl
|3 w|w

©) D)

B TR 74 O 2F (0P 2 N | W FCP 2 R 5[ T = G2 20T 3 @] 7

1 R O SN woR %m@ﬁmﬁm:

A) (B)

St Wl
O3 w|w

©
T EREII TSI TGS 2 @Y | i TASITE! 2 S gHseee TR Tt
3ﬁw@w,mwﬁmﬁwm%|éaﬁ@3@aﬁ3ﬂm

D)

(A) (B)

(©)
Teh e ST 3791 35k B H 2 %A & | FfC 379 1 2 | IO foham 91 3R & 1 3 & 7om fepan
s i frm 2 @ 2 | o

D)

St e
O3 o|w

(A) (B)

SOt e
O3 o|w

©) D)
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70. The numerator of a fraction is 2 less than its denominator. If the numerator
1s multiplied by 2 and the denominator is multiplied by 3, then the fraction
2
becomes 9 The fraction is
1 3
@ 3 ® 5
5 7
© 2 O 3
71. TG 40! T @IoFe] 12 S HRYFMGIF I5Fe1q 145 (2= 60 | FRGBIN Merq A1

71.

71.

71.

71.

[

A) 4 B 3
(C) 6 D) 5
73(b AR @I9RF 12 €3 IR 0o <114 60 | 71471 72164 A1 297
A) 4 ®) 3
C) 6 D) 5

R SFENSHE SemeE e 12 3R g8 S GRETRET ST 60 | § 3T
T SRR |7 7

@) 4 B) 3
(C) 6 D) 5
QY TS 1 AN 12 7 3T 37 o 1 3T 60 7 | 1 F@A3T % ff= 1 3T 2 -
4) 4 B 3
(C) 6 D) 5

The sum of two numbers i1s 12 and the difference of their squares is 60. The
difference between the two numbers is :

A 4 B) 3
C) 6 D) 5
SPACE FOR ROUGH WORK
3] 0
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72. 2009 200% I I 2]

(A) 40,000 (B) 400

(C) 4,000 (D) 440
72. 200 99 200% 2 :

(A) 40,000 (B) 400

(C) 4,000 (D) 440
72. 200 1 200% 311 SITTA

(A) 40,000 (B) 400

(C) 4,000 (D) 440
72. 200 1 200% & —

(A) 40,000 (B) 400

(C) 4,000 (D) 440
72. 200% of 200 is

(A) 40,000 (B) 400

(C) 4,000 (D) 440
73. 14, 21 IF 28 7.8, IIF .73 T A (202 IAEFH

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
73. 14,21 @R 28 T NG, G2 5178, T

(A) (84, 14) B) (56, 7)

(C) (84,7 (D) (56, 14)
73. 14,21 HA 28 [ ¢.37.491. (HCF) 3 g.370.41. (LCM) 31 %1

(A) (84, 14) B) (56, 7)

(C) (84,7) D) (56, 14)

SPACE FOR ROUGH WORK
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73. 14, 21 3R 28 & TA. . TH. 37 T=. ..U, HOW: § :
(A) (84, 14) (B) (56, 7)
(C) (84,7 D) (56, 14)
73. The LCM and HCF of 14, 21 and 28 are respectively
(A) (84, 14) (B) (56, 7)
(C) (84,7 D) (56, 14)
74. 1,2,4,8,16, ......... , 256, 512 WYEIGS L Mg A 1202 :
(A) 10 B) 9
© 7 D) 8
74. 1,2,4,8,16, ......... , 256, 512 FBCS AR A4 :
(A) 10 B) 9
) 7 D) 8
74. RN GREE THE fage g : 1, 2, 4, 8, 16, ... 256, 512
4) 10 B) 9
© 7 D) 8
74, FEE@ AT R TER: 1, 2,4, 8, 16, ......... , 256, 512
4) 10 B) 9
© 7 D) 8
74. The number of terms in the series 1, 2, 4, 8, 16, ......... , 256, 512 1s
4) 10 B) 9
© 7 D) 8
SPACE FOR ROUGH WORK
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75. I 93 5239 IA0@ 1 : 50000 (FTS S F91 (2R | ADALTS 5! B4 779 12
.. | B ST 2FS 11 (2R :
A) 6R=.[. B) 9ff.
€) 12 =M. D) 15 5.1

75. (5 *=CE WA 1 : 50000 T+ 4 SFA 1 291 | Ib@ives gf6 2w 75g 12 LA |
ERRUERRIREGEEGE
A) 6=FM (B) 9fs.f.
C) 12 %M. (D) 15 .M.

75. TR TEH THEETRIE 1 50000 ThHAASE REE | o FHEAETRISTS TREHR gre-
TSR3TTE TR THARIST A6 12 T, | & TREE g e e o ?
A) 6 fs.fu. (B) 9 f&.fu.
(C) 12f%.f. D) 15 f.f.

75. T @ H AR 1 : 50000 3 AW T AR T2l ST 8 | AHH W Q) €AHT % i< HT gl
12 9.1, 2 | SH1 T % i <hl ST fos g # -
A) 6fwf. (B) 9f&w.i.
(C) 12fw.. (D) 15 fp. 1.

75. The map of a city is drawn on a scale of 1 : 50000. The distance between two
locations is 12 cm on the map. The actual distance between the two locations is
(A) 6km (B) 9km
(C) 12km (D) 15km

SPACE FOR ROUGH WORK
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76. 7 lamﬁﬁaa@l
1+§ 2+§
1 1
A 15 B) 3
©) 1 D) 0
4 7
76. T 1 G i e 9
1+§ 2+§
1 1
A 15 B) 3
© 1 D) 0
4 7
76. T~ 1 A
1+§ 2+§
1 1
A 15 B) 3
©) 1 D) 0
4 7
76. T~ 1 T Y 3T HIFST |
1+§ 2+§
1 1
A 15 B) 3
© 1 D) 0
. 4 7
76. Find the value of 17 1
1+§ 2+§
1 1
A 15 B) 3
© 1 D) 0
SPACE FOR ROUGH WORK
LI ]
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71.

71.

71.

71.

71.

{7, -6,-5, ....., 5, 6, T} UGS B! AT 7 AT ?

A) 15 (B) 14

© 7 D) 8
(-7, -6, =5, ....., 5, 6, T} TUHCS IR AU TG Aol 24T :

@A) 15 B) 14

(C) 7 D) 8

{~7,—6,-5, ....... 5, 6, 7} & BINATE TR HHaE fuferm M g

A) 15 (B) 14

© 7 D) 8

(=7, -6, =5, ....., b, 6, T} *[GE H IUTH TTehfcieh TEAT hl el TE & —
A) 15 (B) 14

© 7 D) 8

The total count of natural numbers available in the series {7, —6, -5, ....., 5, 6, 7}
1S

A) 15 (B) 14

© 7 D) 8

78.

W 5-SFYE AGIZSCF I TR *[l 3-TRFYE b2 od Tied ! Kl F4i
Y, (OB CeqBGI 2T ¢

(A) 9001 (B) 9000
(C) 9990 (D) 9999
78. Toals SICRA AR 910 TI2R MR 50 SF =il sifd® Ffer 34y (e [eiar I
el 27 ¢
(A) 9001 (B) 9000
(C) 9990 (D) 9999
SPACE FOR ROUGH WORK
[=]:e ]
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78. 3 el (digit) et MR 5 foEmmHT S 3MfSHRE! @ diseT fhemn
ST
(A) 9001 (B) 9000
(C) 9990 (D) 9999
78. AfE 5 37ehi ! HoH BIE H&ATH H 3 37ehi hl Td LI T T < ST, T IROMH Bl & —
(A) 9001 (B) 9000
(C) 9990 (D) 9999
78. If the largest 3-digit number is subtracted from the smallest 5-digit number,
the result is
(A) 9001 (B) 9000
(C) 9990 D) 9999
79. 18 —[6— {4 — (8 + 3)}] T WM e 5 |
A -2 B -5
C) 5 D) 2
79. 18 —[6—{4— (8 + 3)}] €I W fvsfa <53 -
@A) -2 B) -5
©) 5 D) 2
79. 18 —[6— {4 — (8 + 3)}] 1 o fagH ?
A -2 B) -5
©) 5 D) 2
79. 18— [6— {4 — (8 + 3)}] &1 4 HA HIWT |
A -2 B -5
©) 5 D) 2
SPACE FOR ROUGH WORK
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79.

Find the value of 18 — [6 — {4 — (8 + 3)}]
A -2 B -5
(C) 5 D) 2

80.

80.

80.

ge e eifs G 35 BT =<t Bizel <9 It | 987 i =<7 Gisl FI=Ce (06T A1
SR QTG '] ?

A) 27 WG 12 B (B) 28 fifelb 8 e

(C) 27 WFG 7 B (D) 28 b 12 TFe

9F e &fs [ 35 BI *1<1 T FCS 4T | O 987 G X Jureq Fq00 F© 7
I 2

A) 27 WG 12 e (B) 28 ffel5 8 CTY

(C) 27 WFG 7 e (D) 28 el 12 CFe

T8 g ¥ fuftera 35 Gige egd (Type) T 8= | 987 HigH@! <159 A1 forit 94 Miema
TH AT 7

A) 27 fufe 12 9= (B) 28 fufte 8 T
(C) 27 fufre 7 4 (D) 28Tl 12 T
80. T Afh 35 I1eq Wid e o1 & | 2180 HidT 5 | I/ 987 76 <189 ohi H foheH1 o &M 7
(A) 27 fime 12 Oe (B) 28 firie 8 Twhs
(C) 27 fie 7 ohs (D) 28 fire 12 WS
80. A person types at the rate of 35 words per minute. How long will it take him
to type 987 words ?
(A) 27 minutes 12 second (B) 28 minutes 8 second
(C) 27 minutes 7 second (D) 28 minutes 12 second
SPACE FOR ROUGH WORK
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81. I 9Bl fages fofbi A (el T2tz 2.3 .M., 20 f.f1. == 23 fi.fi. | fqgeht tam
90! ;
&) e fogs (B) T fage
©) el fage (D) Wi fage
81. @< fagred foab ara Tier 2.3 1., 20 ffi. @3k 23 f.f1. | fage® «sfo
&) e foge (B) T fage
(C) e fags (D) R fags
81. HHE G UM AT WRym aEgEsT 2.3 9.f., 20 f.fy. smy 23 o s
STTETRIAT 3T &=
(A) TaF Al ImETf SArETrem™m (B) TUM TG @A™
(C) Ty ImETfrum (D) RIS ATET I
81. U Pyt &l offe =Tiati <t ems 2.3 .Y, 20 ., 3t 23 Taefi. B | Prepror 8 -
(A)  fersrsrg frbor (B) Ty fehon
(C) =T Froat (D) wmigaTg R
81. The three sides of a triangle are of length 2.3 cm, 20 mm and 23 mm. The
triangle is a/an
(A) Scalene triangle (B) Equilateral triangle
(C) Right angled triangle (D) Isosceles triangle
82. TR GBI (A SII (2R :
(&) 2 x (o ot Ot e
(B) 2 x (3 quied (7411 @lareeT)
(©) 5 (@ T T )
D) 2 x (I OIS (eI 7[<eIe)
SPACE FOR ROUGH WORK
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82.

82.

82.

82.

G TRCR THFGTe]

(A) % x (3 m3(Ga TR Qieiee)

B) 2 x (F4 7207 W @iarEe)

(©) 5 = (@ 3fba ot e

D) 2 x (74 7207 TR @)

TrEEt (Rhombus) SsATS AT SITE™

(&) 5 x (s T S e e
B) 2 x (fsf1 @ERE < AU geTET)
(C) %x(ﬁﬁm?ﬁﬁﬁmmﬁwmﬁ)
(D) 2 x (faf wAERRE g A RS
e 1 SEhe ST Il 8 —

(&) 5 x (g3 3 feeoft 1 v a1 )

(B) 2 x (35 &I frehurt <hl w@TE <1 IT)

(C) %x(ﬁamﬁﬁﬁaﬁww)
D) 2 x (39% g TerehuTt 1 ASTE BT UG

The area of a Rhombus equals

1
(A) 9 % (sum of the lengths of its two diagonals)
(B) 2 x (sum of the lengths of its two diagonals)

1
(©) 9 X (product of the lengths of its two diagonals)

(D) 2 x (product of the lengths of its two diagonals)
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83. 1513 5T 149,600,000=__ x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
83. *rE 7f $9: 149,600,000=__ x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
83. WIfel ARG 37T @A™ : 149, 600,000 = x 107.

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
83. T T @l W : 149,600,000=___ x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
83. Fill in the blanks : 149,600,000=__ x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
84. “x TTIA A T IFA (AR G PI0S 0! 9T ARSI fofey @e @isl

91 2= I

(A) 2x2+ 3x (B) 2x2+ 4x
(C) 2x2+7x (D) 2x2+ 12x
84. “x TACAR ARMT @b 0o 29 Tzt (12 (1671 FRomesel ~Afif s1cer il 1l =9 |
Toiare RIfeofba Sreaifefes it :
(A) 2x2+ 3x (B) 2x2+ 4x
(C) 2x2+7x (D) 2x2+ 12x
SPACE FOR ROUGH WORK
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84.

84.

84.

. ST TR R i ceeaRf TE & wife SR R e e |
Sferah graReR RS BT |

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x

“Y[TT & % Teh 71 % &Gt o & T 1 ST o7 oh TRATT o < T H S fean Smar 2 17
IYUH HYH BT SIS 1T sl % :

(A) 2x2+ 3x (B) 2x2+ 4x

(C) 2x2+ Tx (D) 2x2+ 12x

“Two times the area of a square of side x is added to three times the

perimeter of the same square.” The algebraic expression of the above

statement 1s
(A) 2x2 + 3x (B) 2x?+ 4x

(C) 2x2+ Tx (D) 2x2+ 12x

85.

VO ST S TR @91 M FRYGMGIN TISIBIN A AP [EISFem i 2%
(08 QTS & 3129 (! 95l W Ofe 27 ?

(A) RIS FRY72 o[ 7L 27 Al |
(B) % A HOR QoI TR #4527 |
(C) @b e2es FWR2IIF 2RSTHN SCH! 721 FRAFF CTCS AN 27 |

(D) WG MR TFS: GO 9 ¥ 2T |

SLRC-2022/P-II/D 60

SPACE FOR ROUGH WORK

9
=



85.

85.

85.

85.

i 3G Pt <1of R4 @9 (=T ARITH I IR (CE NRIFCER I 27 O
forcw Srafie @m I 5Ty 2

(A) 736 7RI Freife R4 20 74 |

B) 72 7R s Wl %o = |

(C) 3 =R =rvim 71<f =215 etfiete 20 |

(D) 726 FPRUR TS G %+ 2 |

Sfe T T8 "7 VT SHANEIN SEEERT § T’ U SHSEH U AEaeE
TG S TS HiA4 ST §0H ST, 3161 MER SoT 716 o= |

(A) T AT g frfemant sfsmn e A

(B) HMR T AN SITaTE Seatgal ATRg’ SHH

(C) WHE TFE’ (inverse) I TEH T IFNHISH GHH ST

(D) HHR T AR TR i@’ SURArTE

T2 21 ST quTieR b1 A WA S Q] § @ 92 @ B % T % S &1, ) fetertaa
TR ATRIT IR B 7

(A) T qurieh STpfcreh FeATd B =1feT |

(B) 21 qUrtehi 1 AN EHIM I BT & |

(C) o qutteh bt STret e g i 36 s B & |

D) AR HAFA T FITH IR |

If the sum of two unequal integers equals the subtraction of the smaller from
the larger of the same two integers, then which of the following statements is
correct ?

(A) The two integers must be Natural numbers.
(B) The sum of the two integers is always zero.
(C) The inverse of one integer equals the other integer.

(D) At least one of the two integers is zero.
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86. Choose the correct pair of words which are SYNONYMS of each other.
(A) Evil — Blessed
(B) Cheat — Deceive
(C) Above — Below

(D) War — Peace

87. A group of Dogs is called
(A) Pack (B) Swarm

(C) Herd (D) Flock

88. A group of Monkeys is called
(A) Troop (B) Cluster

(C) Rabble (D) Herd

Q. Nos. 89 — 90 : Fill in the blanks with correct articles :

89. Edmund Hillary and Tenzing Norgay were ___ first to conquer Mt. Everest.
(A) the (B) an
©€) a D) it
90. Mr. Bennet left his propertyto__ unknown heir.
A a (B) an
(C) the (D) some

9
=
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Q. Nos. 91 - 93 : Fill in the blanks with correct prepositions :

91. Have pity the poor.
(A) with (B) of
(C) at (D) for
92. Take precaution cold.
(A) against (B) for
(C) with (D) within
93. The picnic table is placed the tree.
(A) under (B) underneath
(C) Dbeneath (D) below
Q. Nos. 94 — 96 : Choose the correctly spelled word :
94. (A) Veterinary (B) Veterinery
(C) Veternary (D) Veterenery
95. (A) Elemantary (B) Elementary
(C) Ellemantary (D) Elemantery
96. (A) Dissimilar (B) Disimilar
(C) Dissimmiler (D) Dissimiler

SLRC-2022/P-II/D

63

9
=

P.T.O.



Q. Nos. 97 - 98 : Choose the correct pair which is similarly related.

97. (A) Good, Best
(B) Tall, More tall
(C) Fat, Rough

(D) Worser, Bad

98. (A) Funny, Funnest
(B) Order, Disorderly
(C) Keen, Kind

(D) Calm, Calmer

Q. Nos. 99 - 100 : Choose the correct pair of words which are OPPOSITE of

each other.
99. (A) Rough — Coarse (B) Artificial — Synthetic
(C) Take — Accept (D) Sad - Happy
100. (A) Easy — Tender (B) Within — Outside
(C) Right — Correct (D) Closed — Shut
[E
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101. & fHepTyRs foeqe SiEie 2 Hac! bare 4 |

101.

(A) ? B)
©) KYI\ (D)

S GE el 3t fog foaites fofee 34 |

(A) ? (B)
(©) rvI\ D)

101. TETHRHHR JTATET HTTHE! ST |

A) ? (B)
(©) KVI\ (D)

101. GHU & 37T JATH(d hl T H —

101.

@) ? ®)
©) KVT\ D)

Identify the figure different from others.

(A) ? (B)
(©) /'VI\ (D)

T\/\

S 3 W3 UALT
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102. weTs iyl foepTes &9¥ 75! =19 Depne ¢ ifes wafzies e Wi | ¢ |ife
S «?” fowibl effiegret faa o1 el t2re -

AT
ol
Ol

A) O B 7N

© o O
102. G TagwEcs, &i2™ gib! R «3h TR Mo I | @12 o) SRk epca bz
QRIS CEGE

Jay)at
O

e
A) O B 7N

)

© o O
102. TreriETe fifd e FIiett 799 99 SIERT | 9 99 9d 7 1 Gier=mmn /1 S 2
yadlal@h
O
Vi

A) O B 7\

©) o O

%
(=

SLRC-2022/P-II/D 66



102. = feu mu fom #, ugeht @1 ufwat e fm @ gwiidt € | fram % egER, <77 % fom
e 8 —

X |ZX
O

Ol
(A) O B) 7\

© o O

102. In the figure below, the first two rows indicate a rule. According to the rule,

)

the replacement for “?” is

Al
ol
Ol

A) O B 7N

©) o O

103. %07 ; TR0QIS = (VI : ?

(A) @[ (B) “gzT

C) 9= (D) TR
103. =157l : TROOIS 1 (IR : ?

(A) TR (B) wg@e

(C) =™ (D) T

[LIpIL]
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103. <9y : f9eia - 9’918 ¢

(A) TR (B) ugrse

© " (D) Ty,
103. <92 ; faer :: Tiemsa : ?

A) =RR (B) Tgise

(C) ™= (D) ™
103. Laptop : Windows :: Mobile : ?

(A) Play Store (B) Android

(C) Apps (D) Games

104. F57© 451 eI BTH! (?) &SR FREE AT = A e 541

?41586177‘N
6 5 9

A) 57 (B) 51
(C) 58 (D) 63
104. TR oafbre enEiss Bz Sacs @ 712016 1@ ©f fbfee F9 |

A ASAN
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
104. GHE™E BN e e MR ST JHEE! iR ?

?41586177‘N
6 5 9

A) 57 (B) 51

(C) 58 (D) 63
[®::[w]
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104.

104.

3T | e g ol 9ge o foTg 7 hl 98=H i |

?41586177‘N
6 5 9

A) 57 (B) 51
(C) 58 (D) 63

Identify the value to replace the question mark (?) in the figures :

?415 86177‘N
6 5 9

A) 57 (B) 51

(C) 58 D) 63
105. “GTi+, el 41g”

7 (F20IF IR eifsfeiizg 711 Hacs! biee 541 |

105.

105.

A) O @ (B)
©) : D)

GTI, S, 4G
GIRCE G efefiag T balber biee 799 |

(A) O @ (B)
(C) D) @

OO0
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105. 958 31 Yfdfaftres e a1er 3w w1 fafed ot -
Mes, fea, Ted

@a O @ B)
©) D)

105. Mark the diagram best representing
Gold, Silver, Metal

(A) O @ (B)
(©) )

Bl B

106. 2 THaiGrs (0! fage ETHI2 SR ?

A) 13 B)

ot

©) 17 (D) 10
106. oafre @i M fage =iz ?

4) 13 ®B) 5
< 7 (D) 10
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106.

106.

106.

GIerTETE Hie8 3TEf=ame ¢ ?

A) 13 B) 5
© 7 D) 10
3TTehfa o fepeH Py 8 7

A) 13 B) 5
© 7 (D) 10

How many triangles are there in the figure ?

(4 13 B) 5
© 7 D) 10
107. <51 gBa vo! 70l etz |

107.

=t fofeibt Ry 21 AR i Ref@re Piftre @251 ey itz 2
A = B) 712
(©) #ib D) <

G2 R(HE K0 (BRI (1S 20T

femfb g el we1fbe feide wret G g e ?

A) = B) 72
(C) +i5 (D) «F
0|
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107. T8 SgEH HiF T3 SEE

T fawe) M7 ArEit Seunf ame argise Aed fa=i g 7
A = (B) =
€ = (D) &
107. T & g % ¢l ®9 fqU MU §
i feigatt et 7@ & fowdia g w b feig 2
@A) @ (B) @
(C) = (D) T
107. The two appearances of the same Die are given

How many dots are there on the face opposite to the face with three dots ?
(A) Six (B) Two
(C) Five (D) One

108. &S (HEPTRRS I ST AL A SRS AR 2, (S08 DPTIRI HqFh 27 :

OROJsRl=)

(A) 1423 (B) 2134

(C) 4123 (D) 2143
[®::[w]
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108. I

ORO4sRI=)

DABEE T AT TR A 2 & T (A

(A) 1423 (B) 2134
(C) 4123 (D) 2143
108. Sf¢

OROJsRl=)

GrerHRE! foar manfRy sHfm SREaE 91fed TR/ SR, 3761 B Sesi

BIRATIA! BT ?

(A) 1423 (B) 2134

(C) 4123 (D) 2143
108. e HAihs

GAOdhI=>

I ITh! gt g3 SIS § Safed foram ST 7, A 56| 1T —

(A) 1423 (B) 2134
(C) 4123 (D) 2143
0|
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108. If the figures

OROJsRl=)

are arranged in their increasing number of sides, then the sequence would be

(A) 1423 (B) 2134

(C) 4123 (D) 2143

109. oae oy sal i 7S G2 o= 415 2© @yl e @2 s I siw 391 =,
(0 (P19 R[S (TR0 I AR 2

@) B)

(©) (D)

109. T4 o GPYY PG oI (T T4

99 TS [T (@41 S ©ie 91 20 O (i 2 SRE (s SPTed 2

@) B)
(©) (D)
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109. ST TERETE BHTE Rgmg =T T TS T forelTs@t BT gt Fvee faar a1

I 7 I ?

(A)

©)

(B)

D)

109, forTe Ta e % T e T v Y iR YET A ey | EH 8 of fwr o 2

(A)

©)

(B)

D)

109. Which image would appear when a transparent sheet with the pattern as

shown

is folded along the dotted line ?

(A)

©)

(B)

D)

SLRC-2022/P-II/D
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110. &7 I @R (06! AT GFa® B2 SR AICHiw - efoRg 5157 7 ?

&
o gp o P

110. & 57 @rell @ S9@a wofa afsfg w7 2

CIF e 9P
o gp o P

110. TR ¢ ST MeE R far=m gmemi 77 ?

CIF egp
o gp 5 P

110. 3TTh{d 1 & & HH T Th g8 1 gU01 Aafe 7 2 7

e
o gp o P

110. Which one of the figure pairs is NOT the mirror image of each other ?

S e P
o gp o P

%
(=
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111.

111.

111.

111.

111.

TONNCETST R Sl SRR 2, &, (oIf2d, IR ST AT AP0 JUFE (72T,
AR, +{IRE, S S SeT *CHRGICE IO Z | ColI9NE S THITS (Il e A o
PRIR T, (ST (98 (12012 % (bl 2

A) TR (B) wrer

(€) Y (D) el
TSI BRSO SIS RS, &@1, S, ISP @R P RS A
T, AP, <JfRIST, SBH G3R TF @ 2 | AW (7 @Ml SR 0o G0 gRers
Y SEF (T BIRE ?

A) S (B) M

(C) o™ (D) &

TRIVS A SRS 9T A4, §gA, 2, S, IR 3R 316 deesRE! BIid S ST
AN, WX, SgH, W I 2 | Jfe g e v 3T eeaRR IR S98E 2
TETSHTE T, §91 Sef A | ?

(A) o (B) 3w
(C) "R D) ¢
et 31 ST HIWT 3 STTER YT, ST, Jeht=T, ATy 3T JTThINT o S1eg ShwT: Tehr™l, 91,

geAft, ST 3TR et § | 3R HIE MMIels ST 37N I8f et 81 S, o 98 o /i ?

(A) Yehra (B) 3ATehr=t
€ =7 (D) 5
As per the local language of Gogaland, the words for earth, water, light, air

and sky are the light, air, earth, sky and water respectively. If one visits
Gogaland and gets thirsty there, what would he ask for ?

(A) Light (B) Sky
(C) Air (D) Water
112. TS ZAPTIRI (PIUG! o0 e ?
(A) TR B) TPI: TRCE
(C) = : SB[ (D) A= : o=
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112. G SEfs (SioisfeR @ Hb sameiE Szl 2

A) 1Ty (B) I IR

(C) el : I D) *9: @
112, S ST TR SO S ?

(A) T g S§E (B) dmr: qurwta

(C) g : g et (D) 3| : &I

112. frfafaa # @ = o1 3 7ofa gafaa &

A) Tafsan . sgen (B) %l : el (FTITER)
(C) el : gguret (D) g3 : g

112. Which of the following pairs is incorrectly matched ?
(A) Birds: Nest (B) Dogs : Kennel
(C) Horse : Stable (D) Pigs: Den

113. e *4= 105! SioRpi2 ke *7ad] 2 <6 =Nife7 a1ifae 2

ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE

113. AIHE TS FACS *RITOICS I SPII ?

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
113. RN BIE! WREETE AT ITYRATE BT B TR ?

ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
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113.

113.

T TRI TG o foTu 3T T 37T =mfe ¢

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
What should come next to continue the series :
ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE
(C) EFGE (D) EGFE

114.

114.

114.

114.

114.

T QR FRYIR o1 %219 § D2Ch! @ifozionm <9 T 2
2, 3), 4, 5), (6, 7), $, (10, 13)

@A) 8, 11) B 3,9
© (7,98 D) (7,11)
T R4 (el § @3 SHfHRTE P 2

2, 3), 4, 5), (6, 7, $, (10, 13)

4) 8,11 B) 8,9
©) (7,8 D) (7, 11)
ol ST IR $ Tl Hierm ?

2, 3), 4,5), (6,7, $, (10, 13)

4) 8,11 B) 8,9
©) (7,8 D) (7,11

I3 ) B H AL $ & T R afaeenfud s =nfge ?

2, 3), 4,5),(6,7),$, (10, 13)

A 611 B 3,9
©) (1,8) D) (7, 11)
Which pair of numbers should replace $ in

2, 3), 4,5),(,17),83, 10, 13)?

A4) (3,11) B) (8,9
©) (7,8 D) (7,11
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115. Q& S@To (0! R S ?

(3,7, 15, 33, 63)

(A) 33 (B) 15

C) 7 (D) 63
115. T30 bR F2yiesfer S (@i sz 2

(3,17, 15, 33, 63)

(A) 33 (B) 15

C) 7 (D) 63
115. (3, 7, 15, 33, 63) ATNSE UHR el SARHRT 76 77 ?

4) 33 B) 15
© 7 (D) 63
115. frAferfaa @ @ i & @ 31gen (3, 7, 15, 33, 63) HH TEI 8 ?
4) 33 B) 15
© 7 (D) 63
115. Which of the following numbers is not correct in the sequence (3, 7, 15, 33,
63) ?
A 33 (B) 15
© 7 (D) 63

116. “THS! : 2[S” *7 YO A ST =<1 161 27

(A) Pants : Legs (B) Cap : Head
(C) Gloves : Hand (D) Belt : Neck
116. “gol : T’ QWA T© GFSII T~{[Fe *<71 (&l biee 31 |
(A) D : N B) TR
(C) o@ErEl: 2re (D) TR (@°5) : 9%
116. ‘ST : SATETE” STsfe A=l T SRE! &Tfy |
(A) TSI ; 37T (B) Yfh: @&
(C) rmEmEf gl : e (D) e : AT
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116. T Seg] shl SIIEH 31 8= I a8 8 i 58 [« T

A) He:: (B) it : R
(C) T4 : B (D) ®e< : e
116. Identify the pair of words related in the same way as “Shoes : Hands”.
(A) Pants: Legs (B) Cap: Head
(C) Gloves : Hand (D) Belt : Neck

117. @78 R MR (PIFCG! R SIS [ AR TeTg e «2 ?

(A) 256 (B) 884
(C) 128 D) 512
117. 0¥ (& ARGIBTAR T @A G52 T S 3 2
(A) 256 (B) 884
(C) 128 D) 512
117. TR 8 HFH IHNAR & T g1 JF8 ST8r F8T ?
(A) 256 (B) 884
(C) 128 (D) 512

117. & E TEmai 8 | A o U & vy w1 e i g v
(A) 256 (B) 884
(C) 128 D) 512
117. Which one of the given numbers is not a part of the same group ?
(A) 256 (B) 884
(C) 128 D) 512

118. I 299 &Af&F D @, 799 2T M @, @l &l F A @ i [l afews S @
IS 2, (S0 Ffere @I Sfe ey 27 2

(A) 32A8M16D 4=-3/2 (B) 6M 18D 26S 13 A 7=173/13
(C) 11M34S17D8S3=38/3 (D) 9A9S9DIMI9=9

118. AWM D ©F =, M %79 =, A @1l & ¢ S Rl =¥ o ey Safve @b fgfs
] ?
(A) 32A8M16D4=-23/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 (D) 9A9S9DIMI9=09

L=l L=l
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118. Sf¢ D 31 TR, M 3T GHSEA™, A 31 SRTeE AW S 31 gHE ™ BRAR, 3Tl
Tt 5 fagfys e ¢

(A) 32A8M16D 4=—3/2 (B) 6M 18D 26S 13 A 7=173/13
(C) 11M34S17D8S3=238/3 M) 9A9S9DIM9=9

118. IR D UM E, M3, ASNE IR S U1 8, @l Ffeifga s a s oA a2 7
(A) 32A8M16D 4=—3/2 (B) 6M 18D 26S13A 7=173/13
(C) 11M34S17D8S3=238/3 M) 9A9S9DIMI9=9

118. If D is division, M is multiplication, A is addition and S is subtraction, then

which of the following statements is true ?
(A) 32A8M16D4=-3/2 B) 6M18D26S 13 A 7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9DIM9=9

119. FATRS 57> (I ST G #1172 2

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
119. 0y St (G SreeTs =M1l 73 2

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
119. TERH 56 HHT B HY TEe 787 ?

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
119. fr=ferfiga § & ®F serm H @ TE 2 ¢

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
119. Which of the following is NOT a branch of study ?

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
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120. f&FFH (XFF O To® =1L Bolle 341 |

@A) cofered (B) TR

(©) PR D) frerg
120. f&CH6 4@ 1087 71 sifareriG fofers 4

(A) ot (B) FICHIR

(©) forp-net D) frepf
120. T3rbe e e T SeeE R |

A) feefd (B) HRE

(C) fueh 31 (D) fed
120. Thehe o @t o W1 T g 6l Tga |

A) fecferdt (B) HRA

(C) Tuek 3 (D) f@E
120. Identify the term associated with the game of Cricket.

(A) Delivery (B) Counter

(C) Pick up (D) Reverse

121. 6574398 RYT SRFCIN JRT B4 111 21 SHIZSE 7 FMRYIGIF 77 GFirers
(I 5 IR ?

A 6 B) 5
€ 7 D) 4
121. 6574398 92 THSE I2E IE@ @ Faoy RYMH e 2@, o2 Wa 07 T@
oG =T ?
A) 6 B) 5
€ 7 D) 4
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121.

121.

121.

6574398 IANHTM TH fe@mSll ERNHT MR SI3HES g3 SFINHTM TSR oM™
formT =1 SImTe

A) 6 B) 5

© 7 (D) 4

6574398 % T 3ThT T ITANT Hlch FHTE AT Hebl dATcl! TH DI TE&AT H, Jieh &= H i
97 37 81 7

A4) 6 B) 5

©) 7 D) 4

In the smallest number that can be formed by using all the digits of 6574398,
what would be the digit exactly in the middle ?

A) 6 B 5
© 7 D) 4

122. 33161 3T T 3¢ S =iete 3¢ qeiGl 26! *=ACh! oo <41 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
122. TG <[ TSRy @33 #i%eq I 21wl =G fbfeee 7 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
122. TS ERGMETATH A1 3TRI ST BREl HiAa! 78 9 diee@! AR ?
(A) BOLT (B) TELL
(C) BELT (D) TALE
122. 39 ITsg h U&= H 5TaH 3TIsh quteren o gat 37 ai=d gHl 31eR 2 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
SLRC-2022/P-I/D 84 %ﬁ



122. Identify the word which features both the second and the fifth letter of

English alphabets.
(A) BOLT
(C) BELT

(B) TELL
(D) TALE

123. TG =% S[RE SR 2 TS TGS 727 ?

(A) Sleeper
(C) Stopper

(B) Lower
(D) Upper

123. TP *115 ST 0 953 WETH SBYS 7 ?

(A) Sleeper
(C) Stopper

(B) Lower
(D) Upper

123. 99 Q3T ATAHT HICTRIRS GHSTR BTT137Td RIS 7

(A) Sleeper
(C) Stopper
123. IF H1 31 39 g o A1 Fafera e 8 7
(A) Sleeper
(C) Stopper

(B) Lower
(D) Upper

(B) Lower
(D) Upper

123. Which word does not belong to the group with the rest ?

(A) Sleeper

(C) Stopper

(B) Lower
(D) Upper

124. BIRG! =91 (SoFe, FIRG! *F SERE CTTS 77 7123 ?

(A) Asia
(C) Australia
124. BIF(G *TH T (I ST Sl =71 2
(A) Asia
(C) Australia
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124. TS T ATETE I« TGS TR T ?

(A) Asia (B) Europe

(C) Australia (D) Africa
124. IR oG] § § S H1 35 GO H fieTd-TeraT =81 8 ?

(A) Asia (B) Europe

(C) Australia (D) Africa
124. Of the four words, which one is not similar to others ?

(A) Asia (B) Europe

(C) Australia (D) Africa
125. &g =T [eoTe #2< =w@ib! Kol Sferea

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
125. 10 SEfs =me3feTs W0 ST (/I 726 =0 Y08 @ I |

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
125. TMERTE EH1 HIGEHRH IS S BRETTHT Sigea! AT ?

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
125. fr=ferfiaa sreci & wsh 1 3701 & P @i |

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
125. Of the following words, find the one different from others.

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
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126.

126.

126.

126.

126.

G LTS *3 ACEGI @ Tife 5o1f @ e s @ =Ieh! 3¢feaiies Sifer st <112 2

(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
T i 3 APH WL ¥ ACEG @11 21w 51 foaies Sepraet el 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
3T TR " ACEGI St @RS 9@ 9 TIgeat STer ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL

3 <1 i |1 TE AL weg ACEGI g ferifca forem o1 e 1df sear @ 7

(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL

Which set of letters does not follow a rule set by the meaningless word

ACEGI ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL

127.

127.

A2 TR s slsem e Sieafz AR | o[ Pres ASHme g o A% (e
ORI | @2 ffeTre ©f2 Fegeite] R a1 oI o[a @1 (e S1e33f3 A | 31! @fsqt Gl
e a9 s == 2

A) | (B) Teq

(C) =i (D) e

el Sfvrs 0 fircs AAsem =it 205, SRR T IMHCS (IS 0 SRS AL #Al 2105, Q3
G (S o701 SRS GHHT =11 ZICE, STl Q3 (IS 4 I SR 2

@A) A (B) Ted
(C) #I5% (D) wFF
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127.

127.

127.

AR AF STERA™ 50 TR &Ry | S foen syt fifém smiema 50 3w
TN | Sgr feri i 31 100 31T AremEE | <fimm o o fonf g s e ¢

(A) =S (B) @&

(C) wHE (D) @t

ST 3T G hi T T8 heH Foid! & | Th a8 arff 1R gedt 7, TR 7= shew =erd ¢ |
IE 8 I & 3T Hl heH Tt & | 71 b1 g@ oTE fha fean H 7 7

@) (B) W

(C) ufvem (D) gferm

Leena walks fifty steps towards the rising sun. Then she turns left and walks

another fifty steps. Here she turns around and walks a hundred steps. Which
direction is Leena facing now ?

(A) East (B) North

(C) West (D) South

128.

128.

128.

128.

128.

Q4 I0IFhoq FIEIT 2T 407 oo O I ¢l SITsS SIphothl (2ez «bl

&) FeC fage (B) TrIg fagw

(C) T fagw (D) T fags

4B 5P FACE @I SIS F01 Tesiifirs epifiiess epfef 2 -
@) 7 fags B) a2 fage

(€) NN fags D) T fage

ME o Tt EuTerEt fof EeTara S et ST e 3T Tetstn oy S ?
(A)  TEH SAEYH (B) TN 3@ Jramfrem
(C) Iy @Y™ (D) @HTET ARG

Teh ST EHTCT hl SHeh [TehUT oh STFCR Hre- X ot sefirir smepfal &l & —
(A) Ao Bt (B) wwsITg gt

(C) wwehIvl B (D) =gkt oy

The resulting geometrical shape on folding a square Handkerchief along its
diagonal, is the

(A) Obtuse Triangle (B) Equilateral Triangle

(C) Right Triangle (D) Acute Triangle

0|
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129. “T¥e BNRETS P (&P 7
“CW\D EQW\Q W |”

BN ST (& |7

3V @20 15! Sf& 7o) 2, (S8 GOl Shalhi 27 :

A) Y (B) P19y
(C) ==y 7/l 727 (D) o2
129. “O9e B[ (AF TG

“W\D Eqiﬂ- CW a—@”
cw‘ oo CW w”

3 212w it fgfs e 271, wra wor fghefb :
(A) T

(©) e o2
129. “Gu 311 S g3 U
fe firfer < forgiferen @, oreem omfy fogfer
(A) et
(C) o @I
129. “qU SHITA T FSTR |”
‘I AEA TSR |
‘T A A TSR |
Ife T T YU T 8, a1 dIE0 HUT R :

(B) Tt
(D) FTEI

(B) @™

(D) wer My

(A) TE

(C) 3T99TH ST

(B) &

(D) S HUH

L[E]
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129. “Tapan is elder than Emmanuel.”
“Chetan is elder than Tapan.”
“Emmanuel is elder than Chetan.”
If the first two statements are true, then the third statement is
(A) True (B) False
(C) Insufficient information (D) Unrelated

130. 3% MADRAS *@(5iF (@I 45 ©9© NBESBT f35IE o4l 27, (508 Gib! ©iure
BOMBAY *C5IF @M i3 aifrs ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

130. 3% @36 e SEE AFce MADRAS & NBESBT 2@ @14 =9, ©@ & ©F[
RS BOMBAY eI @141 A7 ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
130. I @@ wwrRmE MADRAS @ NBESBT s@mi (Code) foi, BOMBAY @t &
TYTTE HT SHRTSH AT 2
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
130. =fe we ff3ra v 4, MADRAS 1 NBESBT & &9 # =hifgd feran Srm @, a1 3@ wen 8
BOMBAY ! d shifed feharm smarm 7
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

130. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY
coded in that language ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
0|
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131. CUP: LIP:: BIRD : ?

STHHCGI BRPE 07l 191 <2 o[« RperChl (et :
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

131. & RFFH G2 T=ItER A TACAE SIET! T

CUP : LIP :: BIRD : ?

(A) GRASS (B) FOREST

(C) BEAK (D) BUSH
131. S A ARREAREIST S5igs deteq gt fef=m ?

EL IR (T A

(A) T (B) =mm

(C) TEH YR (D) STER
131. 9 91 foehed Haferd o fore dod 3ug® & —

YB3 UEl ;2

(A) = (B) &

(C) == (D) 3

131. Which one of the options best fits the relationship
CUP : LIP :: BIRD : ?
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

132. IR STFHRCH! OIS <ifet 512 57 wf<e T2 [Resih! fomre 1 -
GRS ; ANEE: AR @O
INIRPRICEEY ®B) BT
(€) =6 (D) Celbee
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132.

132.

132.

132.

X~ TR S TR e @ st fofes 7

TR : NS o (FE GF

(A) s B) B.0.2

(©) foRo (D) 25w
AERE ARRAT S3fgs Aef arrg RSt Wil UTAHRRE! 311§ WTe™ ?
O WIS @A AT - WA W

(A) wehd B) fafaz

() fefpa (D) wiTwH
Y @ISl 3R Ta8 37 foaehed o1 Tg= ot 3T ik T &1 Wi —
SIS SIRRC CRTR G CE =i SR

(A) R B) HAS

(C) femre (D) wieHH

Find the relationship and identify the best option to fill up the gap :
Airport : Runway :: Railway Station: _

(A) Signals (B) TTE

(C) Tickets (D) Platform

133.

A6N3M4N7H3N4N2K7A2D5F6
*RYFNHTS AP AR N TR (91T (2R :

a) 22 (B) 24
(© 26 D) 20
133. I8 FAMee
A6N3M4N7H3N4N2K7A2D5F6
SRR o SRCPA QNI forefd 9
(A) 22 (B) 24
(C) 26 (D) 20
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133. A6GNSM4N7H3N4N2K7A2D5 F 6 @™ aFE T8 5°0 fegmfa

SroeTTE! fegH ¢

4) 22 (B) 24

© 26 (D) 20
133. @

A6N3M4N7H3N4N2K7A2D5F6

T meft g st HT AT MR ?

A 22 (B) 24

€) 26 (D) 20
133. In the series

A6N3M4NT7TH3N4N2K7A2D5F6

the sum of all the even digits 1s

A) 22 (B) 24
(C) 26 D) 20
134. 80, 10, 70, 15, 60, ........ *RYFGIS A IR /S 95! 7RI 2
(A) 20, 50 (B) 25,45
(C) 30,90 D) 50, 20

134. 6 (e FHHCS 2FS! 727 91 297

80, 10, 70, 15, 60, ........
(A) 20, 50 B) 25, 45
(C) 30, 90 D) 50, 20
134. 80, 10, 70, 15, 60, ........ EIRATS &' TR A T SHfSmRT a1 A 2

A) 20,50 (B) 25, 45
(€) 30,90 D) 50, 20
OO0
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134. & TS *[Gl H 37Te1 4 T & —
80, 10, 70, 15, 60, ........
(A 20,50 (B) 25,45
(C) 30,90 (D) 50,20
134. The next two numbers in the given series
80, 10, 70, 15, 60, ........
are
(A 20,50 (B) 25,45
(C) 30,90 (D) 50, 20

135. I L. MOAT 3 BTce 77ifFS, R SOAP I TS 7S 27, (S8 TPSitd F mifFe

CIT *17CBl (=R
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
135. T L MOAT &3 (% 579{{6®, R 7IFe SOAP 97 70, ©(F 438SI@ F 7fFs
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

135. 9fc L 31 MOAT Sii dlearil, R 31 SOAP i SeamIHl, 376t F 31 TEHEd geisii
ASE 7

(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
135. gfe L, MOAT & Haftrd 8, R, SOAP @ Heftra @, a1 F 3t TehR @ Heifera @
(A4) GOAT (B) GREEN
(C) GOWN (D) GROAN
135. If LL is related to MOAT, R is related to SOAP, then F is similarly related to
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
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